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Question Paper Title : TAIT_PAPER_28

Date of Exam : 2017-12-18 09:00:00

1 ‘1 RSV * 7 JreaRTEl 3 1 2

A ATORICT grafaoy
B. & IaRUl

C .S/ AR

D.TEIE HTH HAMT A=A 91, .4 g0l

Answer: A AT grRafaor

2 Out of the given options, choose the one which is the correct indirect speech of the sentence given
below.

Rahul said to me, “Have you ever been to Mexico”?

A.Rahul asks me if | have ever been to Mexico.
B.Rahul asked me if | have been to Mexico.
C.Rahul asked me if | had ever been to Mexico.

D.Rahul asks me if | had been to Mexico.

Answer: C.Rahul asked me if | had ever been to Mexico.
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3 I : el YA UYTd & faem | 31o7 11 fgaie 318 d. & fau™ UdhdR Tad RO 3Ry XhdTd fdhl
AT HRUMY TR 31 YhdTd. Tt Te faU SR e uRome oy Wl il faum arr snfor
FATAUD! BT IR UITT A1 Glva! [uTHHeR e Heeid JuH ol o oal,

faur -
|. IERIBRUT YRV SHTUT SR 3P TgRISIA HU—AHT SHTH T bl 31,
Il. TGRS hUIh g HRATT IdTGeh N dig e 3fre.

DIRECTIONS: Below in each question are given two statements | and Il. These statements may be
either independent causes or may be effects of independent causes. One of these statements may be
the effect of the other statement. Read both the statements and decide which of the following answer
choice correctly depicts the relationship between these two statements.

Statements:
I. Liberalisation policy has attracted many MNCs to our country.
Il. Indian manufactures face intense competition from MNCs.

Sl 5 Ge s 3 2 1l | s 1T 550 @lls o 8 00 -0 55 5 SIS S sy 331 g b losas 905
O QAN S Qa8 B 0 28 S (S abead )5l a5y lil (g o S 50 SIS 1 uasd (Ol S s (e il
= S il Ses S Blad e 0 S by 590

<l
| — S 2 ol 0 ¥ I MNCS - = WS gl ciph (S Sda ol S
I -MNCS (i (a8 (il (ud 5 28 e (il <yl S

A T3 | HRUT 31T ATTOT faem 11 = gRomd Sie;
A.Statement | is the cause and statement Il is its effect;
A gl i gl oyl 2~ 1l 2 S Gl

B.faem= 11 R 3g 3o Ay | e uRume 3ng:
B.Statement Il is the cause and statement | is its effect;
B.ow g Il s g sl a2 AV S Gl

C.fayr 1 3for 11 ) Tadd HRU e
C.Both the statements | and Il are independent causes
C.omi Gy Gsisa | sl sl - Slosas 3]

D.fayT | 3nfor 11 g} BT THRT BRI YR 3R

D.Both the statements | and Il are effects of independent causes;
D. el Slily 5353 | el ) 1o D3 S lga g a1

Answer: A f3um | RO 3R 3T faem 11 e uikome 3nmg;

A.Statement | is the cause and statement Il is its effect;
A g ] i gl sl o a2 S Gl
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A= WIoiTel W SeRiaTel JATamdel SIoTear gaiT HAedld WHTdrel Hhdl AaHd 372

DIFRECTIONS: In the given question find the answer ficure in which question figure is embedded.

ey s et (S Nlan on e oS AW S gl e el e o Jlae 28 D320l
(X
(A) (B) (©) (D)
A. (A)
B. (B)
C.(C)
D. (D)
Answer:  A. (A)
5 P NASICREA R 2 I | ] [—— ’
AFAR
B.HIcdh
cHrel
D. [l
Answer: C . ST
6 P R R\ | E— S
A SIS
B AT
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Answer:

Answer:

Answer:

D. AR

* 37T AT Jrdd IY AT’ T ITTae faRIyor fics.

ATl
B.HET
C.1dd
D.a¥

C.grad

(25 x 6000) + 150 x 45 = ?
(25 x 6000) + 150 x 45 = ?

(25 x 6000) + 150 x 45 = ?

A.4500
A.4500
A.4500

B.50000
B.50000
B.50000

C.5000
C.5000
C.5000

D.45000
D.45000
D.45000

D.45000
D.45000
D.45000
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A 2
B. 16
C. 4

D.3

Answer: C. 4

10 U] W 25% B 850 I ol TSAT HIl.
If 25% of a number is 850, then find the number?

K el 56 3850 « 25% S juai uS

A.3400
A.3400
A.3400

B.3500
B.3500
B.3500

C.3600
C.3600
C.3600

D.3700
D.3700
D.3700

Answer: A.3400
A.3400
A.3400
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11

Answer:

12

I WTed uHiHe e yafaiayd e siaR/=Tse/HRe FasT.
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HKNQ : 4 :: SVYBY : ?

DIRECTIONS: In the following question, select the related letter/word/number from the given
alternatives.

HKNQ : 4 :: SVYBY : ?

wﬁuﬁuw/kﬂ/uyﬁhl«:»d)h’u:ﬁda‘uyd\ydgéAJmclm.u

HKNQ : 4 :: SVYBY : ?

A6
A6
A6

B.5
B.5
B.5

C.3
C.3
C.3

D.2
D.2
D.2

B.5
B.5
B.5

T ARTH Y= SIdl T GordTd-
The way through which message passes, is called—

= G LS ‘dt')).gﬁt’."":.’c“cz‘“bw.&—

AT
A.Channel

B SR w1

B.Transmission medium
B. Al o i
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Answer:

13

Answer:

14

C . SIHRE 9-d
C.Transmission channel
C. Jus L i

D.gITHRH Req

D.Transmission system
D. sl s 5

INGE |
A.Channel

feore gafaimyA ae 7 FasT.

Choose the odd one out from the given alternatives.

iy S 5o ot o oo e K

AfG®

A.Triangle
A &b

B.dd®

B.Circle
B.o_yila

CIRYT

C.Square
C.ar

DA
D.Sphere
D_a)l\d

INECalYl

A.Triangle

‘BT ST UG ST TR ST

‘Carbon Dating Method’ is used to

' Ul LS Jlexial "agy yha IS K3 o S
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A ST NYTITETST

A.Locate place

A S 8 0 S S oS
B. ORI 99 3NS|ugraTat

B.ldentify the age of material
B.uw S8 pslae S pee (S Gy (S

C .y siisauarTat
C.Identify the script

C.use alid (S ball au

D . ITHY 3NSQuarTaT
D.ldentify the material

D.ux S8 (ailds (S alse

Answer: B. O 99 3NSW@UgrTaT

B.Identify the age of material
B.oxe S S aslae S jae (S G (S

15 warel faendf e Hearg e, weuE ar faendf @t Rremqufier e i v=Rs T ATel gor Y
SO ST YT SSIUM R HRUAH IS 3HTe. 30T T fAeaiars! BT aRag HRUIR?

A student belongs to a very poor family. The student therefore is unable to pay tuition fee for private
coaching but he is eager to get some of his problems solved. What provision will you make for the
student?

el S e il A S Baa S aiale s _uans ol oo BeS,) Gl A G g i e Gl S
T8 lS il p (Sl il Sale il JW A S 8 da S OIS il oy S

A e Sfaled 3@ &%

A.Give extra time to him
A_U:\A kl\g" bjh“j Cu‘

B.3MUcITSId0s Hldhcd] dcd FHeges JTUUT Tl Had HRUIN T UMR
B.Refuse to solve his problems as you have no spare time
B e s B (g Sl hSGpS S8 S S8 s S Jilie S

c.reard Hidt fafo =

C.Creating a terror in him
C.dsi (S i Gae

D. 1A fadiere @& SUIR g,
D.Not giving the ears to his request.
D.co o~ Sl 53 0 (S Gl
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Answer: A . JITdT faRkad & 3

A.Give extra time to him
A g oalyy

16 feoeaT MY WU HIUT Xed daR Bl STS, Jdbar?
OPERATION

Which of the following word can be formed from the given word?
OPERATION

¢ Sl Ll L s (pe B 003 ~aptie el &
'OPERATION'

A.CAPTION
A.CAPTION
A.CAPTION

B.OPTIONAL
B.OPTIONAL
B.OPTIONAL

C.OPTION
C.OPTION
C.OPTION

D.NATION
D.NATION
D.NATION

Answer: C.OPTION
C.OPTION
C.OPTION

17 FTeitede! P10 HRAT AP Tga?
Who out of the following was not a President of India?

= ot e B G e S e )

A g Rig
A.Zail Singh
ASis
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B.&l &l ikt
B.V.V. Giri
B.uLssus

c.ug. st gHAf
C.S.D. Sharma
C.losd 3 Gl

D.HARRG T8

D.Morarji Desai
D.bws (o)) se

D.HRRG T8

D.Morarji Desai
D. b (ol 5

GET IT ON
Google Play

DIRECTIONS: A sentence with an underlined word is given below. Find the word which is opposite in
meaning to the underlined word from the given options.

We managed to get a consensus about not smoking in the office.

Answer:
18
A.Disagreement
B.Agreement
C.Accord
D.Harmony
Answer: A.Disagreement
19

YRAd 3MTTHhS & 3a:
In India we are having:

= 80 e S le

A Gell RIS
A.Double Citizenship
Al s g g0

B.UdI TRTR& .
B.Single Citizenship.

B. Cud s S
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Answer:

20

Answer:

I WTetd wHiHe e yafaiayd e sier/<ree/ARe Aaer.

6:42:7

C.§g AFIRSd
C.Multiple Citizenship
C. Copdoaly) Sl

D.Ushg! gl

D.None
D. 0% 82 &S

B.UdRI ARTR& .
B.Single Citizenship.

B. Cupd s 45
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DIRECTIONS: In the following question, select the related letter/word/number from the given

alternatives.
6:42:7

6:42:7

A4
A4 :

A4

B.5:
B.5:
B.5:

C9:
C.9:
C9:

D.17:23
D.17:23
D.17:23

A4 :
A4
A4 :

15
15

115

23
23
23

82
82
82

15
15
15
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21

A. 29800
B. 29930
C. 28746

D. 20000

Answer: B. 29930

22 T : T Udd WHTd G faUm | 317 11 faeial 3. § 9 Thor Wdd SRUT 3Ry [T Tl
WA HRU GROM 3R YhdId. Titd! T faum 3aR faemmar afkomy s/g Tt gl faem™ amr anfor
WTeade! 0T STRME UaTg I glat f[aumimeRd daie quiH HRal d a3dT.

ﬁsﬂ:r-
|. HRATAAT TRAIATIRET AT TREIUT HRURITS! TR U fIRAY HTaer TR Hal 3R,
||. SR Aigaiasid IR geHe ale gid 3o,

DIRECTIONS: Below in each question are given two statements | and Il. These statements may be
either independent causes or may be effects of independent causes. One of these statements may be
the effect of the other statement. Read both the statements and decide which of the following answer
choice correctly depicts the relationship between these two statements.

Statements:
I. Government has enacted a special law for protecting women against abuses in office.
II. The cases of women abuses in offices have been increasing.

il 53 e Il g a1l | sl 11T 580 bl meom =8 0l om0 DI S ciligns 30 e b llisas 31
O il 8 a8 K 2 S (S Alad sl o 5y il (5isa 2 S 5 51 1S 2 a5 (s SO s (e iy
= U8 s e S S (3l e 0 S iy i

by
| — =2 WS 8L G5l papad SOl SCwsa ol S S el ihias o (Sslusy oS Gl & (e g5 i
- = b s Alal (e Gladl s S (Sslasy o i) 53 (e g5 582 -
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A T3 | HRUT 31 31T faem= 11 T ufkomy 8ie;

A.Statement | is the cause and statement Il is its effect;
A Ol | s g oyl 2 sl -2 TS Gl

B.laum 1| HRUT 31 311for faem | = uiume Sire;
B.Statement Il is the cause and statement | is its effect;
B.owi gl Il s gl oyl s -2 SV S

C.faum | 371for 11 6T WA HROr 3R

C.Both the statements | and Il are independent causes;
C. i Gy Gsisa | sl ) 1O s 31

D.faer 1 3{1f0r 11 g1 Tadd SR Uk 38 d;
D.Both the statements | and Il are effects of independent causes;
D. el iy isa | el sl 1o 8 S lysa s a0

Answer: B.faUT 1| SRUT 318 0T fa4r | = giRomy 31rg;
B.Statement Il is the cause and statement | is its effect;
B.ow g Il s gl sl 2 |- 2 AV IS

23 %mﬁwﬁa,mﬁww&ﬁwswwﬁr%zewmm.mmwﬁwﬁ
?

In a class of students, Raghav's rank is 8th from beginning and 28th from last. How many students are
there in the class?

§ 2 e SIS e S 0528 e JAT )sles 8 e sodan 0 8 5681 (e IS (S (e

A.34
A34
A.34

B.38
B.38
B.38

C.36
C.36
C.36

D.35
D.35
D.35

Answer: D.35
D.35
D.35
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24
A (A)
B. (B)
C.(C)
D. (D)
Answer: D. (D)

25 HeRAYA 6 fered IR "A" HTed T SATOT e ST aToft "rde e, TT 6 fored s sred Sfor
T ST ot aTet. A7 G SRR he-RAS AIegRI "A" JTTOT UTugTe THI01 9:16 STel. S a0
fapelt 3Tg__

From a container, 6 liters Solution “A” was drawn out and was replaced by water. Again 6 liters of the
mixture was drawn out and was replaced by the water. Thus the quantity of Solution “A” and water in
the container after these two operations is 9:16. The quantity of the mixture is__

slae S0 6 ¢ AES CSUMA" (AL ol ) W8 L JIG S e 16 ey Db Sl W L S ot bl ) LS YISG
Jslae e S ey S asiye 53 () 2ok ool W8 LS daag W "A" LS laie (S (€5 29116 e S by

A.13 fored
A.13 litres
A.13 Al
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B.12 fared

B.12 litres
B.12 sl

C.15 fored

C.15 litres
C.15 Al

D.14 fored

D.14 litres
D.14 4l

Answer: C.15 ﬁﬁﬁ
C.15 litres
C.15 Al

26

Answer:

HIaTST S S ST HdIed GRels Scoi U 3Tg:
The highest per capita emitter of Carbon dioxide in the world is :

= U S 8zl A adl ) s G 1S ST (3 (IS e L

ADhdR
A.Qatar
A. ki

B.gTHT
B.USA

B. Aol

C.HRd
C.India
C. o)l

DA
D.China
D. o

A DPdR
A.Qatar
A. ki
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27

Answer:

GET IT ON
Google Play

TG HRUGTT AT TSI dféraa STomR HemT:

Messages are carried across the synapse to the dendrite of a receives neuron

o S J e S S S8 dsas O o e Slalay

A JdONYS

A.Neurotransmitter
A Fandl 5 Sy ) g

B.gTHH
B.Hormone
B.osob

C Sl

C.Vitamins
C. a5

D.TIsH
D.Enzymes
D. 5l

A JATUNY S
A.Neurotransmitter
AL Al J Sig ) g
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28 T WIeid AT Hlesongdd 1T HRT 0T feeiedr Ty S .
Td Aol SHRAHE ASTedi=T U o I1d 31 3 s faad 3ed. P, Q, R, S, T 31T v Ut e Sur
ITTaTTeHT HoledTaR JMEdl. (A HoledTal ol 9. -1d fadl 3HTg 3O Trean axed Holedi- Hofdl .3
30T ge A1d feeiell 3ied. SHRGHT Uh Aol RSB 3Tg. P Uraed] HeleddR gdl. Uraedl HoiedT dreral
PHIUTATE! AT NBTHT 18!, [AuH BT S/ HIvdre! Hoial RebTHT ATal. T 31fo1 Vel Hel hacs S
g4l T favH T@ Srciedr Auiedrd Jgd Alel. T R d 3icedl Aoicdrd ik aR fdhdl & Wra=an
HoledTar Xed ATal. Q desHSedTaR Xed Tal.
TSHATCITIR DI0T AGI?

DIRECTIONS: Study the following information carefully and answer the given questions.

In a seven storey building, having floors numbered one to seven. P, Q, R, S, T and V each live on a
different floor. (The ground floor is numbered floor no. 1, the floor above it floor no. 2 and so on. One
of the floors in the building is vacant. P lives on the fifth floor. No floor below fifth floor is vacant; also
no odd numbered floor is vacant. Only S lives between T and V. T does not live on an odd numbered
floor. T does not live on a floor immediately above or immediately below R’s floor. Q does not live on
the bottom most floor.

Who lives on the bottom most floor?

o e SOl K 0 55 (e 5y e a8 Glaslas b ok il

Ot s s S smr S 518 e e <o e ALy s Sl Pe Qe Re Se Te U sl Vg sl calite Sl 5y s (e
= A sl S e e (S ok ol sl 22 e 5B IS gl Sl o1 s Sl Sy K)o U P sy
oo S sl S e Gl e S5S Sa ouxd S sl SS a  sll asail . o) OB T sl V gy S
GpaS. oUW T ol gy oslh Soe B SUIT L ysh oA R By oxd o ol Jibisny SQ e
= B o g sl Ay

§ o W) oS sl s

AQ
AQ
AQ

B.V
B.V
B.V

CR
CR
C.R

D.T
D.T
D.T

Answer: C.R
CR
CR
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29 I e ar G=u1 fRasar Jald Agarean U IR YT arld o 3MT8-

The most important questions to be answered in selecting an institution of higher learning is—

= e byl S Gua Jhg ol s o e S5 S i S ol A S 58S Jel-

AP T TR AR AT 318?
A.ls the institution properly accredited?
Af ead g )shie sk caulies ol LS

B. 1 T Rigrapi-l et fawdid siftietidss uadt 4o defl 3ig?
B.Do the instructors of the institution hold advanced degrees in their subjects?
B.fur S, 6 83 (S a2 el e Omelame i ol S o I LS

C.3{SIGRTEAT TRGlT HATTAUITS! § SR U 38 H1?
C.Does the institution suit to the needs of the applicant?
C.t 2 S s 58 il ys e (oS YRak Cand g3 30 ol LS

D. Ut Id

D.All of the above
D.olai o) sSaa

Answer: D.Hﬂﬂﬁﬁ ﬂa‘

D.All of the above
D.olai o) sSae

30 fecre fogmes fardht Yo SiTita?

How many lines can pass through a given point?

§ oS s 1R adali S S 58 S

Ahdd Udh
A.Only one
A Gpa

B.gH
B.Two
B.s

caH
C.Three
C.us

D.3{FiG
D.Unlimited
D.osaay


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda297

Answer: D.SM'CI'T'C{
D.Unlimited
D.osaay
31 Greitd HIHRUTE Yo Hal:

892 — 1684 + 643 + 893 218 = ?
Find the value of following expression:
892 — 1684 + 643 + 893 218 = ?

S aslre Gl (S O glue Jid z 0

892 — 1684 + 643 + 893 —218="7

A.526
A.526
A.526

B.458
B.458
B.458

C.622
C.622
C.622

D.746
D.746
D.746

Answer: A.526
A.526
A.526

32 WD T HIU UHR SaARTUST AT 3R?
Which of the following type of waves is different from others?

fom s Alita w Gsmisd il (S and S (e D A 2
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Answer:

ATBTR AT
A.Light waves

Ao S )

B.TRI-Xl
B.X—rays
B.oelad-(us)

c.fss a

C.Radio waves
C.uid S 3,

D.&3H] TR

D.Sound waves
D.oid S )l

D.&3A] TR

D.Sound waves
D.oid S )l

GET IT ON
Google Play

33 e wrefiate! Ul usd, s aeld Ue S goie 3], It T Qe

572,284, 140,72, 32, 14, 5

DIRECTION: In each of the following questions, one number is wrong in the series. Find out the wrong
number.

572, 284,140,772, 32,14, 5
o568 S paihle Gl bkl 5 SO Gae Jsw p Cul

572,284, 140,72, 32, 14, 5

A14
A14
A14

B.32
B.32
B.32

C.72
C.72
C.72

D.5
D.5
D.5
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Answer: C.72
C.72
C.72

34

Answer:

35

‘IR * U1 Neg N favgrdf Weg wivrdr 2

ATTS
B.WIEHT
cay

D.cTeAT dTeidUuIIRT

cay

GET IT ON
Google Play

T Wegidl Tedl HHM AU Ho @ialt faced! UiaaTaae Hiordr iguf vl 3&d?

Which one of the given responses would be a meaningful order of the following words?

1. Gold

2. Iron

3. Silver

4. Platinum
5. Copper

0S5 i 3 ime S BB b as pdie Sl L s s (ne il a8 0 (e i 5 s S8 5

1. S
2. =
K ITALEN
4. s
5.
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Answer:

36

B.4,1,3,5,2
B.4,1,3,5,2
B4,1,3,5,2

C4,5,1,3,2
C4,5,1,3,2
C4,5,1,3,2

D.5,4,3,2,1
D.5,4,3,2,1
D.5,4,3,2,1

T WIeid AT Hresongdd 1T HRT 0T feeiedr Ty 3w .

ITd Aol SHRAHE ASedi=T T o I1d 3 8 s faadt 3ed. P, Q, R, S, T (10T v Ut e Sur
ITTaTTeHT HoledTaR JMEdl. (A HoledTal Holdl 9.8 H1d fadl 3MTg 3O Trean axed Hotedi-T Holdl .3
30T ge A1d feeiell 3ied. SHRGHT Uh Holdl RBMHT 3Te. P Uraed] HeledTdR gdl. Uraedl HoiedT dreral
PIUTATE! AT NBTHT 18!, f[auH e S/ cid HIvdie! HoTal RebTHT ATal. T 31for v Hel hacs S
Edl. T fovH e Sr¥eiedr AoiedTaR ed ATal. T R W8d 3¥ced] Aoledred] aid aR fdhdl @a araen
AoTcdTeR Jgd ATel. Q dBHSIeUTdR A8d ol

Q 30T SHY et Aot 3Med?

DIRECTIONS: Study the following information carefully and answer the given questions.

In a seven storey building, having floors numbered one to seven. P, Q, R, S, T and V each live on a
different floor. (The ground floor is numbered floor no. 1, the floor above it floor no. 2 and so on. One
of the floors in the building is vacant. P lives on the fifth floor. No floor below fifth floor is vacant; also
no odd numbered floor is vacant. Only S lives between T and V. T does not live on an odd numbered
floor. T does not live on a floor immediately above or immediately below R’s floor. Q does not live on
the bottom most floor.

How many floors are there between Q and S?

o e SOl K 0 55 (e 5y e s S Glaslas b i il

o Sl SOl aad S5l Gae e e Dplee Al e Dl SOV P Qe ReSe T U sl Vg st calise SOl e
= B sl Sl e e (Sl ok ol sl 22 e 8IS gl Sl o1 e 1S sl By K)ol P ooisadly
= o B sl S aae Gl e (BS 8 oyt B O DS e e D sy W) R OB T sV ey S
GpaS. U T oW ot sl Sae 3 SUIT 5 osheudR- 2 W) b sl dxibe) SQ e
= B o g o5t e

Q s S Tum s S ey S

AT
A.Three
A.os
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B.gH
B.Two
B.s?

CdR
C.Four
C.»s

D.Udh
D.One
D.

Answer: A
A.Three
Ao

37

Answer:

DIRECTIONS: Complete the series by choosing right figure from the given choices.

— s haSle a4l

e e

;_S - S -_ai?di_a..& TR | .:.ll.ll..‘n.‘:.ll _:-S ‘,:I_‘..:.-L.I.JH

Problem Figures

GET IT ON
Google Play

N AN A 5 N A
vV NI N 4N
ﬂnl:trhguui ’ .
NN 7
7SI 2S00
(&) (B) (C) (D)

A. (A)

B. (B)

C. (C)

D. (D)
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38

Answer:

39

13T YT feelt §hs> Qebdl-

Instruction can be imparted to—

2 Sl (S 355 S Sl

AgTia

A.Within the classroom
Axl Sasy oIS

B.faum = AgHTaR
B.On the Assembly ground

B.oxe Ol S e

C a1 AeMTd
C.At sports-grounds

C.om 0siae S S

D. iUt 9d
D.All of the above
D.olai o) sS3a

D. Ut 9d
D.All of the above
D.olai o) sS3e

IT: feoiea waraime THTa T s fHasT.

Tafe fafeean Tay <. o, we gresit e ST Y IaY .. Wed 3ie:

DIRECTIONS: Choose the analogous word from the given alternatives.

Stuart Little is to E.B. White as Winnie the Pooh is to:

AT T e
AA. A. Milne
A ool o)

B4 TH. g9
B.C. S. Lewis

B. U“‘):‘S.U"E‘.g_n,-”

GET IT ON
Google Play

\Saji.g\J@}Ab&;.@ﬁhédﬁb_@_d\5&3&@@}\5&&)\)&_
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C.9l. 3R, 3R, Treh
C.J. R. R. Tolkein
C. oSl =

D.3R. Ycladh
D.R. Sutcliff
D. Cilia ]

Answer: AT U, e
A.A. A. Milne
A Ol o)

40 T Weitd AT Hlesoigdd 1T ST 0T feerent uyi 3< .
Td ASTell SARGHE Aoled =T U o I1d 31 31dhs fad o4, P, Q, R, S, T 311 v Ot Ude Sur
AT HSedTaR XT84l (e Aoledrd Hoid o.8 ATd faal 3iTg 3101 rea gl HoTed T Holdll 9.3
3101 g A1d feetedl Mg d. SHRET U Holell RebTaT 3ilg. P I HeledIdR Agdl. YTl Holed] erdl
DIUIATE! Hotal N1 ATgY, fawH T SRIeidl HIUdTg! Horal RpTET ATal. T 3Mf0r Ve AL 6dcs S
el T [auH WReT 3RyciedT HoledTaR I18d lel. T R 8d 3RIcied] HoledredT g aR fdhdl @i Qe
AOledTaR IM8d ATal. Q dBHSIedaR J8d Aol
R S IUIT HSTedTaR 8al?

DIRECTIONS: Study the following information carefully and answer the given questions.

In a seven storey building, having floors numbered one to seven. P, Q, R, S, T and V each live on a
different floor. (The ground floor is numbered floor no. 1, the floor above it floor no. 2 and so on. One
of the floors in the building is vacant. P lives on the fifth floor. No floor below fifth floor is vacant; also
no odd numbered floor is vacant. Only S lives between T and V. T does not live on an odd numbered
floor. T does not live on a floor immediately above or immediately below R’s floor. Q does not live on
the bottom most floor.

On which of the following floors does R live?

o s S ol 8 0 g o5y e s S Claglae i e iy

o Sl e SOl el S )18 e e e G jlee A e Gl SO PCQe RS Te U Ul Vg st calise SOl 0 s e
= B sl Sl e e (Sl ok ol s 22 e 8IS gl Sl o1 e 1S sl B3 K)ol P oissdly
ot IS s S e Bl e S5S 58  ud IB Us AS e e sl sl o W) s DB T sl V gy S
GpaS. ol T. oo sk Sae 3L SUIT 5 osh e R- 2 W) 0 sk by SQew
= B o o 058 S

RO oS RIS W,

AIdAT
A.Seventh
Ao sl

B.HeTHl
B.Sixth

B.Ze>
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c.fag=n
C.Third
C.o s

D.ufgel

D.First
D.2n

Answer: D.q'%?ﬂ

D.First
D.2n

41 Choose the word which is most similar in meaning to the given word.
APPETITE

A.Hunger
B.Satisfaction
C.Sufficiency

D.Fullness

Answer: A.Hunger

42 T TS A 8T ATATUET 536 fGaw HIaT S8 R ATl S6107 S &1 Hi UeRN 75 36ds Hia! 38, SR
21T S YA ST S AR 81 HI0TA] AR ST

Sonu’s brother Monu is 536 days older to him while his sister Tonu 75 weeks older to Monu. If Tonu
was born on Wednesday, on which day was Sonu born?

Sl San gf Ko 65 075 s 58 0 S ol San 215 02536 o ) i Sl S s
o law G0 (S 5 g

AXHAR
A.Saturday
Al

BIfddR
B.Sunday
B._ls
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CR[PdIR
C.Friday

(O EIEN

D HIHaR
D.Monday
D._ox

Answer: B.XfdaR
B.Sunday
B.,l s

43

Answer:

0.3x142x0.33="7

0.3x142x0.33="7

0.3x1.42x0.33="7

A.1.4057999999999999
A.1.4057999999999999
A.1.4057999999999999

B.1.4058E-3
B.1.4058E-3
B.1.4058E-3

C.0.24057999999999999
C.0.24057999999999999
C.0.24057999999999999

D.0.14058000000000001
D.0.14058000000000001
D.0.14058000000000001

D.0.14058000000000001
D.0.14058000000000001
D.0.14058000000000001

GET IT ON
Google Play
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44

Answer:

45

Answer:

I, SIS AT STt Teft &1 SRS 1:3:5 3HTR. SR JrTieh! Jafil URW R HTUd aR 9, S5 AT
T ds el S TUIRR BT SRT?

The speeds of bus, bike and train are in the ratio of 1: 3: 5 respectively. If all of them covers equal
distance then the ratio of time taken by bus, bike and train are respectively:

G s ISl Jise cm 55 (S T alald (g sbue ol g &)L 2513 il i 1S U8 ) (S o sl Sl e o
& 5 g i il i IS <y S

B.15:5:3
B.15:
B.15:5:3

(¢}
w

C12:7:9
C.12:
C12:7:9

~
©

B.8

Cc. 1

D. 81
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46

Answer:

47

YN WA WA U STselell I GG el 35, SRl USEiieh! HIordr g3 0 31 Reeea
oeg arsferm I5e1?

DIRECTIONS: In the following question an unfolded dice is given. From the given alternatives which of the
following will be opposite of B?

S B G e e b2 4oden me SValRe 8 2 — o LS Lt 48 S U el (B3 e Sl
I8 a So
A
el B
C
Dt E
A A
B.B
C.C
D.D
D.D

fASST: WTelie a1 Bressiydes e HToT @el faciear wsfieh ST .
4K%RT3EP#A7BO9DIQ@28VUOHJI5F1%6MW

R fedienn e AL Wieitd yafar Ut STat dg- 10 o1 TSN 38R T STat B8t 3 X UTH HIUA?
DIRECTIONS: Study the following arrangement carefully and answer the questions given below.
4K%RT3EP#A7B9DIQ@28VUOHJI5F1%6MW

Which of the following is the third to the left of the tenth from the left end in the above arrangement?
2 Sl o sl 5 S i (S e uly
4K%RT3EP#A7BO9DIQ@28VUOHJI5F1%6MW

$00n Lai € QLA L Cia | i gl ) S LB L Capa (smd Bl ) (e i 5 6

AE
AE
AE
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B.9
B.9
B.9

C.B
C.B
C.B

D.P
D.P
D.P

Answer: A.E
A.E
A.E

48 e @reiia U gul Hiferds Hed, BTl 31eR 8T 3Med, o Wit fededr afal 7ed UhT hHM feaa
3Ted. Iy uaiy fRasT.

ba-b-aabb-a--a-b

DIRECTION: In each of the following letter series, some of the letters are missing, which are given in
that order as one of the alternatives below it. Choose the correct alternative.

ba-b-aabb-a--a-b
i DR opn e L K s e v eail Cin S e SSioa oo e Sy

ba-b-aabb-a--a-b

A.bbaabb
A.bbaabb
A.bbaabb

B.ababba
B.ababba
B.ababba

C.ababab
C.ababab
C.ababab

D.bababa
D.bababa
D.bababa
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Answer: B.ababba
B.ababba
B.ababba

GET IT ON
Google Play

49 W 20 fEawaid & gl H& Yl W A0 AW TS HaRal oF S 15 fGadid $& Wdbdrd. SR Gl

T HHNITS] %. 400 SUATT T, TR A dTel fohd! 3Rd (SUATHE).

Ram can do a work in 20 days. Ram and Shyam together do the same work in 15 days. If they are

paid Rs.400 for that work, what is the share of Shyam (in Rs.).

Sl a0 5 400 S alS Gl S Ol Rl G S e 0500 15 68 (s S deald sl al - S e 532 20 plS Sl )y
?ls}f(u:mu}:\.}))m\:&lsem

A.100
A.100
A.100

B.200
B.200
B.200

C.150
C.150
C.150

D.50
D.50
D.50

Answer: A.100
A.100
A.100

50

g g IS 9 TR SIS 3Med-

Bulletin Board and Flannel Board are—
Sy de ) 3, ol
AT g IITE SR ST

A.One and same things
A Jbse oS
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B.fY 3MHR 9 [T

B.Different in form and colour

C vl gl =0 fovg eiaum

C.Different from the point of view of the material to be displayed
C“—‘Luc‘)hhéd‘}ﬂcj‘}c’ﬁjf&

D. 7 q1hd ATel
D.Can't say
D ~S s

Answer: C . UciRia g =1 oeg eiaum

C.Different from the point of view of the material to be displayed

51 ST RGHIS T8 AR Hads! AT 3MTe-

Profound mental retardation score in I1Q is

= oSl S alsatial (d () e Jie

A.120-130
A.120-130
A.120-130

B.20<T @Talt
B.Below 20
B.20 ux Jdd

C. 35347 @Telt
C.Below 35
C.35 U dd

D.25<41 @Telt
D.Below 25
D.25 U did

Answer: B.20<AT WTait
B.Below 20
B.20 U did

52 Out of the given options which best expresses the meaning of the given Proverb?
Appearances are deceptive.
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A.We should not believe in things and persons merely by their appearances for they are often unreal
B.We should believe in things and persons only by their appearances for they are always real
C.The external appearance of a person is the most important aspect of his or her personality

D.None of the above

Answer: A.We should not believe in things and persons merely by their appearances for they are often unreal

53 UH qiIadl 94 T WRa-d 9edh 3Hgd
All except one are the elements of group structure

Op A3 S Gy R ealie em i sw S S

AYd
A.Pole
A.kd

B.Fuw

B.Norms
B.d sl

c.Ruh
C.status
C.Ai)

D.fAaet
D.Nature

D, kb

Answer: D.foet
D.Nature

D.c: b
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54 e e e miferdrdia gavie T TN
48,24,72, 34, 108, 54
DIRECTIONS: Find the wrong term in the given number series:
48,24,72, 34, 108, 54
2068 i hle ez ju gl 8 20 Sy

48, 24,72, 34,108, 54

A.54
A.54
A.54

B.34
B.34
B.34

C.72
C.72
C.72

D.108
D.108
D.108

Answer: B.34
B.34
B.34

55 TAYd TS UhapTd! TAT 3T
Number of basic Sl Units is:

= s S g AT Gl gl

A4
A4
A4

B.7
B.7
B.7
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C.6
C.6
C.6

D.5
D.5
D.5

Answer: B.7
B.7
B.7

56 TTefieies! faUT arem T Sifge garean YeHid HIvd sRIsR 3R o I

Read the statements below and say which of these is true in relation to mental age

€ a3 O L 05 Blate s e 2led oS il gl Sy S il S

A Sifg® IR heTqT 3ahs s Fiftidal.

A.Concept of mental age was given by Alfred Benet.
Al by & Dl ¢ g i S jee ela

B.d GO e oIad &l Bl Sfarcd HRIBGRIA § 4 d Hd.

B.It refers to a measurement of intellectual functioning expressed in terms of age.
B. = Glxie s iy (S A8 il sy s s il Blal S e

C.(a) 3T (b) T
C.Both (a) and (b)
C.usisr @ gl Al

D.8 I fadehgeiigR Swsar YR 3g.
D.It is based on conscience will desire.
D. = i oo ) Rl paa

Answer: C.(a) 3ifor (b) Gl
C.Both (a) and (b)
C.usisr @ s Al

57 3{IhH 30, 60, 90,............. ERNER R
Find the 10th term of the sequence: 30, 60, 90,..............

90,60 ,30 1:¢ 2 S o5 5 3mS z pos ol i,
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A.300
A.300
A.300

B.326
B.326
B.326

C.360
C.360
C.360

D.470
D.470
D.470

Answer: A.300
A.300
A.300

58 Choose the word which is opposite in meaning to the given word.
ARROGANT
A.Modest
B.Proud
C.Disrespectful

D.Haughty

Answer: A.Modest
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59

Answer:

60

GET IT ON
Google Play

I oM (FET) A asamsredn & fhar fave el (fRangeie amr geifad 3 camgsm)
90° firefarelr. feeredr IR oAl srhcaiaele wIvTd 3t ar fisfacear sarear Jrd afafafaea

T HE?

DIRECTIONS: When the key figure is rotated one step clockwise OR anticlockwise (depending upon the direction
of arrow shown), which of the Answer figures given will represent the main figure in the rotated form?

3365) e canwr Gl G Jl> oS 3368 b gue caawr S Jlz oS 53568 8 sl posana S Lz T bl
_)J_‘slﬂ;usdt_.-'ls? f_{,f ”_ESJSJr,_—_‘ LTl:_r Llaef,nm J:.J {_}min_g_}y'-'_Jl_g f_u_)fn_,;l..\iih_ﬁ_,bu.fumuuf
TS Sailai o JSa G ilags o ugai > 055 2w peo

AET AFat FERTETSN TARY AT

OGDO

Main Figure Answer Figure
Hgeoi yols Hze0i S wlgz
= Y Q o
e} o
A B
A. (A)
B. (B)
C. (C)
D. (D)
A. (A)

C D

T e T TN T e AFRRETi 316 TRTeH 313

Method of research contributed the most to educational psychology as a science

LS 131 12 8 Ll (e s el o0l s iy sk S (uiles 5 (o ki S (B

AR

A.Experimental
AL

B.g=NYH
B.Research

B3

C.UHN Ush UeR Uy foaror

C.One to one Questioning
C. @Y S S Syl

RUGRIGED

D.Historical
D.a5
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Answer:

61

Answer:

62

ATEIRS

A.Experimental
Al

GET IT ON
Google Play

- Grelle WATd Soliciiel Garaide! ioTedm 2T HIpdid TAdd 15l JaHd HTe?

DIRECTIONS: In the given question find the answer figure in which question figure iz embedded.

Er,

—:.._--._.5’-._.;.».»

A o L

< 1 5
e o Jlae et e 42

I~

T

L,

(A) (B)

D. (D)

()

(D)}

e P R R KT

g, TfOr AR TaTe Wed. dR TSI grogTaT I HIUrdr?

If red is called blue, blue is called white, white is called black, black is called green, green is called

orange and orange is called pink. What is the colour of sea water.

K18 il S w5 e LS (8 € (KU sl (KU S e ¢ Gane S ol cobns S i e S L Sl S K

f LS

AR
A.Orange

A. S

B.Tiexl
B.White

B.uiu
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Answer:

63

Answer:

c.fexar
C.Green
C.om

D .t
D.Blue
D

B.TiexT
B.White

B.asu

-

WA AGAAS THoT ol aqo 3Med?

Find the total number of circles i the ficure given below?

C.12

D. 13

D. 13

5
T e

Sl

-l
e

=

<

G ome b

GET IT ON
Google Play
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Answer:

65

Answer:

I Wed Ui et qafaiayd e siaR/=Tse/HRe AasT.
ﬁ'c{:ﬁﬁ::uﬂ: ?

GET IT ON
Google Play

DIRECTIONS: In the following question, select the related letter/word/number from the given

alternatives.

Adult : Baby :: Flower : ?
wﬁuﬁuw/kﬂ/uyﬁhl«:»d)h’u:ﬁdg‘uyd\yd:m/\;Jmclm.u

$dse A gl

A
A.Seed

Az

B.tha
B.Fruit
B.de

C.®H3B!
C.Bud
C..K

D.pdure=
D.Butterfly

D.ks

C.®H!
C.Bud
C..8

Out of the given four words only one is not spelt correctly. Find the word that is not correctly spelt.

A.Farenheite
B.February
C.Fiery

D.Foreign

A.Farenheite
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Answer:

67

Hollywood actress Denn Lovato suffers from

G e 51 (3 o 81N 355 L

A TR Fatar

A.Anorexia Nervosa
Allus s (S LA ae ) LS )5

B.XqHUT
B.Autism
B. S 2 a

C. YT
C.Bulimia
C.Sse 313

D.Ffay=r
D.Dementia
D.gle s

C. YT
C.Bulimia
C. S )

T BT AT aTe, fear for 37 gxfaa?
Which of the following figure represents Red, Green and Colour?

Do g o) BUIS (s S e e U ea ke
oSS Sl (S8 sl

GET IT ON
Google Play
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(D] @O

Answer:

68 fcer: Anferent quf &
ZUP, KFA, ?, GBW
DIRECTION: Complete the series
ZUP, KFA, ?, GBW
508 JSSa S 7w el il

ZUP, KFA, 7, GBW

A.VRL
A.VRL
A.VRL

B.vQL
B.vQL
B.vQL

C.VSL
C.VSL
C.VSL

D.VPL
D.VPL
D.VPL

Answer: B.vVQL
B.VQL
B.VQL
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69

Answer:

70

SR YRR T dTeel dR ATl JHTS Ii:

If the velocity of a body increases, then its potential energy:

G55 S (S ) B e a0y ) (S pun (S SN

ATTEd

A.Increase
A= Ssedl)

B.ged

B.Decreases
B.2 xS

C.9&ad gl
C.Does not change
C.=ux &y

DR 3radie 3 d
D.Depend on conditions

C.9cad gt
C.Does not change
C.= w S

GET IT ON
Google Play

78 3 3IHUTI fUTT 3reieh TReaT s uaraTat 36798 HYH aoll dhaie! Jaid e IT?

The least number to be subtracted from 36798 to get a number which is exactly divisible by 78 is?

36798 € 2l S g ot IS KWL jaad 78 (pse Aol oS ) oS g g oS

A.18
A18
A.18

B.60
B.60
B.60

C.38
C.38
C.38

D.68
D.68
D.68
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Answer: B.60
B.60
B.60

71 TP G o 20 . eraar i Isrdiers g 10 1. araar i Isrdiers des- 9 . uraar ST gt
Sldidrs a3 5 1. YTddl 101 HaR STdidrs aa3- 12 Hl. rad! 01 act Srdidbs dosd! 3107 6 1.
eTadl. AT T $AT Al DT faRer 3mg?

A dog run 20m towards East and Turns to right runs 10m and turns to right runs 9m and again turns to
left run 5m and then turns to left runs 12m and finally turns to left and runs 6m. Now which direction
dog facing?

SO e 9 sl am S Gl ) 2 U550 SO e 108 psef s Gl ey 0 50 e 20l (S 5k US )
- = U350 A B sl = B5e s 0 DAV sl 2 U5 ke 12 Gils (b Hey 2 U550 e B s il Lgg sl 2 U5
?S'U:MQ““"‘L)“S&)ECSS‘.—‘\

A e
A.South
A

B.Tf&H
B.West
B.—

C.3M
C.North
C.dwi

D.qd

D.East
D.3 s

Answer: C.3TR
C.North
C.dls
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7

72

Answer:

73

I Wi uyiHe fociedn qafaidyT Jeftid sieR g fasr.

AG: 10

TEK:?

GET IT ON
Google Play

DIRECTIONS: In the following question, select the related group of letters from the given alternatives.

AG: 10

.w;@%};ME&JJﬁﬁdeﬁAC‘édj$U.:\Ad‘}ud..3:3,\.;)dln:&lm.m

AG: 10

ALR
ALR
ALR

B.MS
B.MS
B.MS

C.PV
C.PV
C.PV

D.SY
D.SY
D.SY

B.MS
B.MS
B.MS

TEK:?

TEK:?

U] BIRGY JTH: Y STl Srd:
White phosphorus is generally kept in:

SRk N PL R 3 oshale e sl adu

ATroft
A.Water
AL

BIThd

B.Kerosene oil
B.JS (s S



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda297

CWR
C.Ether
C.oal

D.URT
D.Mercury
D.s_S

Answer: A.Troft
A.Water
AN

74 T Sriqul ufde fFmfor Hruarret, @ fGaet (P), (Q) (R), (S) 30T (T) & U aTe’ TRy SfIehHM
QR R, iR Wreited i ST 1.

P. AT it S1aT 10T 1 ot Jhel fresaraa 3xfad.
Q. TR FTeTd ST AT U] ST gd SHIeisTal arTd g,

R. &AM Ufdfdares g faa St A die SuSeIsRisR o AR dahel Urodrd Sl T 3{ey

AT

S. T fGaxh, THT A THI [T g el ulgal.

T. Tl ST ST, I - Ufdfdd uroard ufga Sl gER1 U HAT HidTal gobsl U Sid SEedTd|
A faaR o,

QAT HeHaR WAaue! HIud aied O 3a?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence
to form a meaningful paragraph; then answer the questions given below them.

P. The dog got greedy and decided to have that piece as well.

Q. As it walked home, it had to cross a bridge over a stream.

R. He snapped at the reflection, and as soon as he opened his mouth, his piece of meat fell into the
water and disappeared.

S. A dog found a piece of meat one day.

T. As it walked, it saw its reflection in the water and thought it was another dog with a piece of meat.

Which of the following should be the FOURTH sentence after rearrangement?

ostea b o) 1@y (P)e (Q)¢ (R)e (S) us) (T) sl sm =K o0 i jew ¢ iy i yio Jlsa ) Sl | ym e b S
el S

P. Lo s 1355 55 e 55 b e @y S S

Q. WU SR ey ) S Sl A0 Gl (S 568 55 o,

RS 568 sl L8 8 (e (AL 1555 A8 e 8 0¥ 568 i Wyl il (isn ) ceSis (o Wlea .
S. e 138 S s & S S (p S,

T SASE S @bl S s g adsm sl 06590 Slenn o G il s 55 0,

s Ui Leisn alea L (558 aay S 3 Cay i Jlsa
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Answer:

75

Answer:

76

A.P
AP
AP

B.Q
B.Q
B.Q

CR
C.R
CR

D.S
D.S
D.S

AP
AP
AP

WA G XeG DIV ?

A fRiag
B.ffada
C.fydruft
DRt

B.Riad=

TST ITE HeaTd 38 oI ST § 3Med—

Panda belongs to the same family as that of—

oA S ool o GRS

AT
A.Whale
Adus

B.3{¥dd
B.Bear
B. sl

GET IT ON
Google Play
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C.PI=
C.Kangaroo
C. 58

D.HI T

D.Porcupine
D.osils Ll S

Answer: B.3{¥dd
B.Bear
B. sl
77 % Trefiar Uy fedean Teqiar smutla 3mg.

Lay/ Editor/ Precursor/ Orthodox

T YGIIHR ‘P’ Saedr fardht 3rfguf Ye qOR giedier?

DIRECTIONS: Following question is based on the given words.

Lay/ Editor/ Precursor/ Orthodox

If ‘P’ is placed before every word then how many meaningful words will be formed?
o daidie ppiadl g dlse S da iy

Lay/ Editor /Precursor/ Orthodox

—ia TP B s B dese i€ g s LS

AUD
A.One
A

BaH
B.Two
B.s

cdH
C.Three
C.os

DR
D.Four
D._os
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Answer:

78

Answer:

79

AUD
A.One
A

GET IT ON
Google Play

ST e forareitad=an (URTwifern) fawm st @ieitate! B Fafiid gew U IT-l eRuar|

A et

Which of the following is not considered to be a rule factor for the development of paraphilia

= U Lenens (i eaie IS Jgeal ol s S Suiand 53 S ULy oS (S (e Jid adie

A A= BTN el Terdfer IRatR

A.Early drug abuse
A Jlerind 1€ ciladia il

B.31fd ofier y&
B.hypersexuality

B.omia Sl

C . ITcaaRdre YT
C.childhood abuse
C.Jlaaisl Ll \S O

D STeaTaRAdd garef
D.childhood neglect

D. )il ,lai K e

A A=A HITAIe el Terdfer IRaTR

A.Early drug abuse
A Jlarind S Ciludiia o)

‘Abhijana Shakuntalam’ & ‘Meghadoot’ are written by -

.uﬁm&gb}d@)}\mo%\

AIRa™
A.Surdas

Ao 5 g

B. &GN
B.Kalidasa
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C.[ahl
C.Shudraka
C.ls 0l

D.dg N
D.Ved Vyas
D.obisys

Answer: B.a?Tf?Fc{m
B.Kalidasa

80 WU qaid Te 3qulids TNe
Find the smallest of the following fractions

OIS OB e (Fsen e s pe ) 9uS D die

A.52/25
A.52/25
A.52/25

B.39/17
B.39/17
B.39/17

C.49/24
C.49/24
C.49/24

D.25/12
D.25/12
D.25/12

Answer: C.49/24
C.49/24
C.49/24

81 YT yaTeaTae! feeeiined Treron=an IRy ey 19 1 38?2

What is the name of the special trains that run in Delhi for the local passengers?

$ WSS iy fF agad My s s (e i A S g il alia
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Answer:

Agdc
A.Bullet
A oS el

B.AC!
B.Metro
B. 5w

C.xraTset
C.Shatabdi
C. saus

PRISEIEI
D.Rajdhani
D. Sl

B.AC!
B.Metro
B. six

GET IT ON
Google Play

82 fewr: T e S&RT=HT HHIA BTl &R 8IS bail 3Rd o T hHM Jielt f[Eaedr yaiaite! T 38

ab_bb _ccc_aaa_ b

DIRECTIONS: In each of the following letter series, same of the letters are missing which are given in

that order as one of the alternatives below it.
ab_bb _ccc_aaa_b _
2SS e Gl S e calid (SO ST a8 a8 aegm cips S da Gl

ab_bb ccc_aaa_b

A.abcab
A.abcab
A.abcab

B.bcabc
B.bcabc
B.bcabc

C.bcacc
C.bcacc
C.bcacc

D.bcabb
D.bcabb
D.bcabb
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Answer: D.bcabb
D.bcabb
D.bcabb

83

Answer:

[T WelTd WA, feean TaRiaes Aaeay Seem Agdr fHasr

DIRECTIONS: In the question below, select the related ficure from the given altematives.

= Rt d gl dilane — ¥ alae :-S_cl_. et o ;vl‘:.—':"'.'.""“"

- |
Wt ry B [

Problem Figures: Answer Figures:

O O
ol @[l ? P [AD|Yn | D

(A) (B) (C) (D) M @ @ @

A1

B.2

C.3

D.4

A1
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84 I T fau™ 3ftT AR g A, | 3on 1| faet sied. 8 faum amT=aa: 1a aegeydiuer fid
3l I T TR S TN, fedeamiat wiurdr fswY fader faumias Taw! FTedl O3 Udhd §
TR BRAR TR THY IR Jford Bl

faum:
Uha! A8 Jd HdaR ¥d.
HTe! HAGR UG 3HTed.

ﬁﬁb_ﬁf:
. Jd UIe AdeR 3drd.
II. Uhg! AdGR g Ja =9dl.

DIRECTION: Two statements are given following by two conclusions, |, and Il. You have to consider
that statements to be true, even if they seem to be at variance from commonly known facts. You are to
decide which of the given conclusions can definitely be drawn from the given statements. Indicate
your answer.

Statements:

No children are voters.
Some voters are adulds.
Conclusion:

I. All adults are voters.

Il. No voters are children.

U:\:\Mﬂm#u}mmi}dﬁsﬁmjdjﬁg\g_ |¢ J}\ll_L)u%a}u&AC'\éd,\%)g\ cd\j}u&u)d@af\'ﬁua}ﬁ%\.
o Lyl 5 DG e Gt ga 3 U8 JUEA) il sk Gl wgme psadd K0 S ) S Citdae 3l
e S K,

e kel

= oH Sssem ee &S
on db DAy es

i

l. = 5xss Ul s,

. = o 422 s oo 55

A.Fde sy | fRedr

A.Only conclusion | follows
A S Ja] o US il

B.%dos ey || fRgdl

B.Only conclusion Il follows
B. 2w J& || = US dlas

c.arel ey | 3nfor 1| e e

C.Both conclusion | and Il follows
C.2W sl ool = S8 il
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7

D.1 fdar 11 fFAswig) fAgumR gt

D.Neither conclusion | nor Il follows
D.m@ s Al = BS s

Answer: D.| fobar 1| fAspuig! fFraomR Are

D.Neither conclusion | nor Il follows
D. g Al = BS dlas

85

Answer:

86

Grellel 3Tehdld Mo F[ed Tem,

Find the walue of M in the following figure.

et e xS S M

| 9
] 16

g Y |
4 3| 36

A. 25
B. 36
C.49

D. 42

A. 25

SR x:y=5:2, W x y* o Yoo QM.
If x:y=5:2, then find the value of x3: y*?

RIxy=5:2¢ 563 55 X3 Y3 S S pslaa 4 S

A.8:1
A.8:1
A.8:1

B.125:8
B.125:8
B.125:8

C.15:6
C.15:6
C.15:6

GET IT ON
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D.25:4
D.25:4
D.25:4

Answer: B.125:8
B.125:8
B.125:8

87 D BT KJT HTS> 31T, M Bt K =t 98101 318, T 8T R =1 fdT 3118 Sl M T 413> 3118, F 81 K =t 3175 3Mmg. T 3for
F i1 fobatt gt 3Mgd?

D is K’'s brother. M is K’s sister. T is R’s father who is M’s brother, F is K's mother. Atleast how many
sons do T and F have?

KD 2@ KM 200 S RT » 2GbEM o G & KF S oS 2 ST 5 F & n Sa 8 S

A2
A2
A2

B.3
B.3
B.3

C4
C4
C4

D H1feel 3G 38

D.Data inadequate
D. LS b5

Answer: A.2
A2
A2

88 TfAURITS Gol 3= SFard
Children who are gifted are

PRRE QEEPES FTANg ¥
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Answer:

AU TRSTSTSd 3TUgT 7900

A.Nonassertive of their needs
Al pa Sl Alsad

B.Igdaqur fAuig Bt

B.Independent in their judgments
B.al U yshad 4

C.RI&BiaR Sfaciq THURI
C.Independent of teachers
C.s2 ) (S (palaa

D.THIE 3

D.Introvert in nature

D.ikb (5 ki

B. Tgd=u0r fAufy St

B.Independent in their judgments
B.aJl U g slad

fdear yataime 3 & fasT,

Choose the odd one out from the given alternatives.

i S 5 o o e e K o

Afad®

A.Conscience

A. pen

B.Afaear

B.Morality
B.ola™al

C.adu®

C.Conduct

C.55.

D.duiq

D.Weight

D.ols

D.guiq

D.Weight

D.ols

GET IT ON
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Answer:

91

gt U fafiy uremfaga aird
The evaluation tells about a trait—

= U e 2 b S Cuald SO g i

AT eOTeaT YHTONEEd Hifgdt ad
A.How much of its quantity is present
A. = 25 se e (S (S

B.1 falry uremie geu & o)
B.What is the value of that trait
B. = 088 S cuals (S Gl

C.8 U HY ad Pl IS, Udhd

C.How can be expressed that trait

Colbwbls —ws Lhl K aldle (Szob ol

D8 U & Hisdd SIS b

D.How can be measured that trait

D. s b S S il (S e (S 2ok

B. T fafy Turemi= geu &1 38
B.What is the value of that trait
B.= 0¥ S (S Cuald (S

TaeRRpis . A 3

Fatehpur Sikri is in the state of —

= U e S (6 S gy b

AT USRI
A.Madhya Pradesh
Al G g e

B. &G
B.Chattisgarh
B.ume &R Caties

c.giamn
C.Haryana
C.ox Ay

D. 3R YT
D.Uttar Pradesh
D.uxe i pn 5
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Answer: D.3TR m
D.Uttar Pradesh
D.ous Ui n il

92 AT WTdtd uHiHe e yafaiayd e sier/<ree/Re Faer.
Thfd: R& o 2

DIRECTIONS: In the following question, select the related letter/word/number from the given
alternatives.

Skating : Rink :: ?

¢ ;;Assstsm”ﬁ \:d_miu/'i )

AHRgs : R
A.Boxing:Arena
ALV 3eS) Sl

B.fhbe : 1
B.Cricket:Ball
B.uf:esS <

C.3fFFic : gqul
C.Joy : Laugh

Cliwy: hsn

D.YMH : TRH
D.Sweat : Hot
D.o S ¢~

Answer: A.H@“ﬂ@ o

A.Boxing:Arena
A3l Sansy
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93 YT TS URATA Ueh Y@ faeURied IR fau™ 3igd Sai=arare! A, B, C 30T D 3 dR faur
3{TRd. HHAR faemi SISt st Same wyd faum ga=n faumrer gaad, snfir 3t faum afbeesen
g faurHred Afed s,

SR dl do5d 3MTaT, aR Al Iareameh fufd s
A. @ Jesar 3MTal

B. a0l Jo5aR STl ATgY

C. Ht et fHfeéT et

D. Ht A= A Feft g

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and
D. Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

If he comes on time , | will have meeting with him
A. He came on time

B. He did not come on time

C. | had meeting with him

D. 1 did not have meeting with him.

S 0o Shuie gpand o K 0 _wal Sl ) e o) daa Jla am S o alaa Sl e Jlse e il
b Giae S 0l 6 S e e e 50 sl by S )Ll sl (S alea o psd alea Sl Ul L s

K WS Js 5 88 6 U S 0l 3 Celasy S
AT iy,

Blai Wl oy oy

Cooed Kitra gilas Sl (5 ya -

Desed et Siltse gl Sl (5 pa -

A.AB
A.AB
A.AB

B.BC
B.BC
B.BC

C.DA
C.DA
C.DA

D.DB
D.DB
D.DB
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Answer: D.DB
D.DB
D.DB

94 T Srqul U fmfor srugraret, @ fidedt (P), (Q) (R), (S) 30T (T) & U aTe’ TRy SfIehHM
TR BT, AR ATeid Ui ST .

P. A1 Al e SO A ot JheT firesaraa 3xfad.
Q. TR TTeId ST Tl TehT ATaRId U Scigrdl ARTd il
R. @M Uldfddrds g faa 3 M die IuScareRieR o TRl dhsl Urudrd Usdl Sl exd

AT,
S. U f¢axi, U1 S U ATl gavel ulga.

T. < S SRdHT, I Wa:d Ufafds avard ufgd Sifol gaRT Ue Sl Al gasT 84 Sld sredral
I faaR e,

TR FHGR WTadie! HIod ared ufed SRd?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence
to form a meaningful paragraph; then answer the questions given below them.

P. The dog got greedy and decided to have that piece as well.

Q. As it walked home, it had to cross a bridge over a stream.

R. He snapped at the reflection, and as soon as he opened his mouth, his piece of meat fell into the
water and disappeared.

S. A dog found a piece of meat one day.

T. As it walked, it saw its reflection in the water and thought it was another dog with a piece of meat.

Which of the following should be the FIRST sentence after rearrangement?

ostex @l o) iy (P)e (Q)¢ (R)¢ (S) Ush (T) sl 8 0 2 g e —imd i ol 3l S iy |y Jina b S
e S

P. L Ll 1358 55 o 55 00 Ve @Y S S,

Q.U 58 e dy ) S Sl S8 Gk (S el g5,

R. LS 568 55l L8 R Gae (L 1555 A8 it K o 568 mia Ll il oo ) e 2 blen .
SIS S i & £ € Sy,

T SIS S b 8 US st o laig sl (6500 lean ome Sl il Sla 55 o,

Qc‘:“% u):‘ 3‘{" alaa L 0SS é c":.m B "JL.’JJ

AS
AS
A.S

B.T
B.T
B.T
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Answer:

96

c.Q
c.Q
c.Q

D.R
D.R
D.R

A.S
A.S
AS

GET IT ON
Google Play

WredUe! HIUA eThTS; Uard Wd dUR SIS RamgR fagfed s S Wehd A1el?

Which of the following wastes cannot be decomposed by bacteria to form compost?

?mhwg\j“ﬂ‘ﬁjjéhwcﬂéwéﬁ%‘)éuU)S:‘u&Aajésdﬂiﬂjm

A TGUUTHERTAIS TThTS Uared

A.Kitchen wastes
A S 8ol aHsb

B. &R SATTOT GiferfaT forgrean
B.Plastic and polythene bags

B. e S (s s ol SEL

C.Hd gt
C.Dead plants
C_ LJJ.-!. J\J)A

D HTcH e ISTUM=AT foreTIdt IR

D.Bodies of insects living in the saill
D. 58 oY (S 0338 s ) s e

B. Wb STIOT Uiferfe fo=rear
B.Plastic and polythene bags

B. et S (ned (A sl SEDY

Out of the given options, choose the one which is the correct active voice of the sentence given below.

His property was agreed to be disposed of by him.

A.He agreed to dispose of his property.

B.He have agreed to dispose of his property.
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C.He had agree to dispose of his property.

D.He has agree to dispose of his property.

Answer: A.He agreed to dispose of his property.

97 RIFTEHEITT TR PHetell ICgPH:
An ordinance promulgated by the President:

i)l SOl ks e ik (S aa

A FgeTar RIATFT STEISH AU JeT 3e1ae quf d 31 € gisa

A.Will lapse on the expiry of 6 weeks from the convening of Parliament’s session
A ot Ua g i 50 S 4 6 s dind) S Ol ciadd g

B.3H A= 3Tley IE B8 d
B.Will automatically lapse after 2 months
B. —Uls sl (ol 2 3580 358

C. g1 Aig=u M3 HIIGT I,

C.Automatically becomes a law after six months.
C. oUa 00l Sl Solegn 3550353,

D. IS ST AT ST UsWRid SIRT 3.

D.Will continue to be in force till it is Superseded by an Act of the parliament.
D. S o gsd S il (S U SO,

Answer:  A.IHCTT SMRGRAT TS STATUR T8 3MT3Ids gui Td Hi IE 8lsd

A.Will lapse on the expiry of 6 weeks from the convening of Parliament’s session
A o Ula g ol S 66 s il S s S Cuiad

98 7 fpHian Hiexw e TUiaRid &

Convert 7 km into meter.

7-03% e i S jla i<

A.7077 |
A.7077 m
A.7077 fw
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Answer:

B.7000 Ht
B.7000 m
B.7000 fix

C.7070 Ht
C.7070 m
C.7070 fiw

D.7707 Ht
D.7707 m
D.7707 fiw

B.7000 #t
B.7000 m
B.7000 s

R FAaHd=ar Rigumh TR Yrd 378 Sicg-
The necessity of Diagnostic teaching is being felt when—

C 2 S prsmne Gy i (S el el

A faemef 18} B3 ur Geheue U S Yhd T

A.The students are unable to follow some difficult concepts
Aon 2=l (e S8 s S Q) sal JShe 28 ple il

B.fendf 18l 0 Wy Huary erewy 3T
B.The students are unable to explain some facts
B.ow »ald e S Caaliay (S Silia gaS oLl

C.faemff snary HRUaN Heresl HRad
C.The students are disinterested in studying
Cuom ghpls st o 03 fle s

D.faemdf &t 7o T srgara
D.The students are gifted
Doy 3K ole il

A faenff S16t B3I Gheu-a UTe S Xdhd 9

A.The students are unable to follow some difficult concepts
Aon »ald (e DS s oS O seal JSie g2S ple il
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100

Answer:

101

DU WTOATIRE Jedd™ iR i [Had?
From which animal is the valuable pashmina wool obtained?

f o S dala u Hsila S O el Jied

AT Hel

A.Black sheep
A. S ol

SAREINRIEIRIE]

B.Himalayan goat
B. s 5% Sl

C.eXul
C.Deer

C.oxn

D.g1
D.Rabbit
D. 5L a

B. AT 2t

B.Himalayan goat
B. s Sl

el gRieamie SrismaRh Fda sryam.

The Educational Television programme is related to —

= Bl —mm o) Ry (055 (A oailad -

ARy
A.Health

A.Cisa

B. Il
B.Culture
B.cilss

C.MHINS S dl

C.General awareness
C.o)lw asas

D.ad 9d
D.All the above

GET IT ON
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Answer: D.ch']FI ﬂﬁ
D.All the above
102 84321261 Wit HIUMEIET faHTT 32?2

84321261 is divisible by which of the following?

84321261 ¢ = axnsdl BB s S (e i~ 20

A8
A8
A8

B.7
B.7
B.7

C.9
C.9
C.9

D.11
D.11
D.11

Answer: C.9
C.9
C.9

103 6 d 7 arSUgTeRA fAfHe 3Mf0T g el et 180° AT HIF TIR HRaT?
When did the minute and hour hand makes 180° angle between 6 to 7 O’ clock?

6 S i masl) 1800 oS Jhfism S g8 ) Siia 0oy S 207

(A) 6:54=
11

(B) 6:60
(€) 6:00
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Answer: C) 6:00

104

Answer:

UiexT 30T TSI J56 TSl —
A white and smooth surface is —

=S gl lsar sl e SO

A . IOTCHT IRTAT ST SfOT T URIdcdd

A.Good absorber and good reflector of Heat
ALJS GSaie ga) ) Qs el (S (e £

B. WA= WRIT ATNTD ATOT T URTd <

B.Bad absorber and good reflector of Heat
B.US UsSaia ea) Uyl 2ila 5 0 (S (0 R

C. U IRTAT SRS 0T VRIS SARNH

C.Good absorber and bad reflector of Heat
C. S Saia 50 sl o ea) (S (e R

D. IWAT WIS (AR S0 BRIS TRNYDH

D.Bad absorber and bad reflector of Heat
D. S USaia 5 sl @l 6 S (0 S

B. IV WRTS TN SHTOT AT URTacih

B.Bad absorber and good reflector of Heat
B. S UsSaie ga) Hs) @il 5 (S (0 S

GET IT ON
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105 TEE fqEmaiar aiq So IRvATH T ANTE 3Tg. SRATIRIT SToedren SR ufdfshar gmal arca?

A student has developed the habit of stealing the lunch boxes in the class. What reaction would you
like to show in this case?

LS il deea) WS Sl pae Cppa ol o o (Sl e (S S8 o S U gl S s (e oIS S ale Gl S

L

A.TTT HISTd! UM, B D1 e 3

A.Harsh punitive measures, to repress the habit
ALl o) e an Al S 5 S cdn Sl



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda297

B. 31T IUTIASIHT dTUR = SiUIheH dl ol Hag g GUIR
B.Try to adopt such measures as he gives up the habit
B.oo S S icile o5 aSE S Gl € (S Sl S il S 7 5k )

C.IT=AT IS SIguT ST

C.Bring favorable lunch for him
C.sl JUeS caulia S jp0 A S (4

D. T UTddhid YA He
D.Making insult of his parents.
D.LS s S ol s .

Answer:  B.3=T IUTGAISAT TR = S dl off ¥ad g GUIR

B.Try to adopt such measures as he gives up the habit
B.od S Syl os a8l K (i S S Sl S claladl S & 5kl

106 T WIeitd AT Hresonydd 1T HRT 0T feeiear Ty 3w .
T HoTel! ARG Aoledi=T Udh o ITd 3 3ffds fadd oMed. P, Q, R, S, T 3TN V Udh! U ol
ITTaTTeHT HoledTaR JMEdl. (A HoledTal Holdl 9.8 H1d fadl 3HTe 30T Trean axed Holedi-T Holdl 6.3
30T e A1d faeiell 3ied. SHRGHT Uh Holdl KRBT 3Tg. P Uraed] HeledTdR Jgdl. Uraedl HoiedT dreral
PIUTAT! FoTe ReTHT ATar, v T SRITT HIVIdTg! Hofel R ATl T 301 Veal Aed ohdes S
el T [auH TReaT 3RyciedT HoledTaR AIed ATel. T R RM8d 3Ricied] Holedredl aid aR fdhdl @i @reren
ToledTaR IM8d ATal. Q dHSIedTaR 8d ol
QT Ut BT ASTa RepTHT 3MT8?

DIRECTIONS: Study the following information carefully and answer the given questions.

In a seven storey building, having floors numbered one to seven. P, Q, R, S, T and V each live on a
different floor. (The ground floor is numbered floor no. 1, the floor above it floor no. 2 and so on. One
of the floors in the building is vacant. P lives on the fifth floor. No floor below fifth floor is vacant; also
no odd numbered floor is vacant. Only S lives between T and V. T does not live on an odd numbered
floor. T does not live on a floor immediately above or immediately below R’s floor. Q does not live on
the bottom most floor.

Which of the following floor is vacant?

o e SOl K 0 55 (e 5y e a8 Slaslas b ok il

o Sl SOl aai S5l Gae e e Dplee Al e Dl SOVPC Qe Re Se T U sl Vg st calise Sl e
= B sl Sl e e (Bl ok ol s 22 e 8IS gl Sl o1 e 1S sl B K)oy P ooisadly
= o B sl S aae Gl e (S 8t o B ) DS e s D sy ) R OB T L8V ey S
GpaS. U T . oW ot sl Sae 3L SUIT 5 osheudR- 2 W) b sl b SQ e
= o o g o5t S

f B sl S e i e 2ie

SIGE
A.Seventh
Al sl


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda

247

GET IT ON
Google Play

Answer:

107

B. g1l
B.Sixth

B.Ue

c.fag=n
C.Third
C.) s

D.ga1
D.Second

D.) a0

B. g1l
B.Sixth

B.te>

G YA YAl Ueh T fauriiad IR fae siied Sai=ardra A, B, C 301D 3 IR faer
3Ted. HHAR AU et Fasr Same uyH faur ga=a1 faum=rar gadad, T gt faum dfhamesedr
g faurmred Afed s,

dl STEaSaTea /iact fdval gear id dxl.
A. T TeaSdrAT Uae] Hid Bl

B. M 3M&dsaTedl Viac! bid el Alel.

C. I YdR! Hid P,

D. T AR} HId Bl g,

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and
D. Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

He calls either on weekends or on Wednesday
A.He called on weekends

B.He did not call on weekends

C.He called on Wednesday

D.He did not call on Wednesday

S 05 Shuie gpand g K wal S8 ) e oo ) daa s an S o alaa SOl e Jlse e il
op Githe S ol S e ihie ea 53 sl by S el Hgl (S ales o g alea Sy (b - i

KAyl U SIS 53 Sos ey
ALS JS S Syy el -

BesS 0 IS e 3 Sa 5 -
CSdS Sayy .

DS Ui IS Sany ol
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A.BD
A.BD
A.BD

B.DA
B.DA
B.DA

C.CB
C.CB
C.CB

D.AC
D.AC
D.AC

Answer: B.DA
B.DA
B.DA

108

A.3

B.2

C.6

D.4

Answer: C.6
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Answer:

faem:
PROGN AHR & 3115, o GIaT BRI 3Ted B! el 5 JUURIA A Tal Uhe! 61 GrRad ieiel g,

FHra B
|. BT TehR Tearal.
II. T I STt faemeafHr fAdfaa e,

Statement:

The newly joined college students complained against the ragging in the hostel. The administration is
refusing to acknowledge the complaint. They are claiming that in last Syears not a single case of
ragging has been registered.

Course of actions:

I. The authorities should register the complaint.

Il. The newly joined students should be suspended.

ol
O = e S S e S el ClSUS il S S (S B, Gl e Jub el 5 b e S
A8 LS g S @l o SO S B8, st S Je 5 ey S 5o 8

Jae a8y
-l (SS g0 Culsd S alSan
I zts W S Jlane S ellla My S 5.

Ao | 3TERA 3T
A.Only | follows
A Gpal K o &Y

B.Tdd Il S{IRUI Bl 3T
B.Only Il follows
B. cia Il & 5 &Y

C.UDHR | fval 11 S 318
C.Either I or Il follows

D.1 f35aT 1| Gl Blele! SITERUI B TGt

D.Neither | nor Il follows
Dl os 118 5 SY er 58 e

ATHad | 38R 3T
A.Only | follows
A cipal| & 5 &Y
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112

STeRA o IR HEH URAHS Jad Il R1ud dbeit

Babur established Mughal rule in India by defeating the —

FAAUD! G AT DIV 2

A STEToTTaR JRIgrd foare uroft Suasy g,
B. TGSl YR v ot Jueisy gl
C Sigrairer fquard Hie uroft uersy =g,
D.STgTeTaR RI& fqugren uroft Iuesy e,

A STETSITaR GRiard faugra uroft Suersy =g,

HAY Bl g g T AT 3R
The Kalam art form is indigenous to the state of -

s (S g gem S T S

ABACH

A.Karnataka
ALK SaL <

B.R&

B.Kerala
B.\S Al S

C.dHes1g
C.Tamil Nadu
C.\S 53 Jas

D.Jite! Biurde! et

D.None of these
D.os 258 o O

B.dR®

B.Kerala
B..K Al ,<

@ S AE S S eSa Jae e Sl S b
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A Rgasht
A.Khilji
A.usala

B.dUd®
B.Tughalaq

B.usils

c.areh
C.Lodhis
C.usas

bR EAURHEI |

D.None of these
D.uos &S = o O

Answer: C.aeht
C.Lodhis
C.usmad

113 T WIeid Algdd HIesongdd 1T HRT 0T feeiedr gy S .
Td Aol SHRAHE ASTedi=T U o I1d 8 3 s faaidl 3ed. P, Q, R, S, T 3101 v Ut e Sur
AT HoledTaR gl (e HoledTdl Hordl ob.8 A1d fadl T8 AT AT aRdT Holed T HoTdl 9.3
3101 g 1d feerelt 3MTed. SHRGT Ueb Holell RebTHT 31Tg. P UT<edl HoledTaR gl. Yraredl HefedT @rerdl
PHIUATG! AT NBTHT 16!, [AuH TS /el SHIvdie! Hoial RebTHT ATal. T 3101 VT Hel dacs S
Edl. T fovH e et Aoiedlar M8d ATal. T R ed S¥ced] Aoledred] aiid aR fdhdl e @araen
HoledTaR ed ATal. Q desHSedTaR Xed ATal.
afd 91 HeledaR HIvT IEal?

DIRECTIONS: Study the following information carefully and answer the given questions.

In a seven storey building, having floors numbered one to seven. P, Q, R, S, T and V each live on a
different floor. (The ground floor is numbered floor no. 1, the floor above it floor no. 2 and so on. One
of the floors in the building is vacant. P lives on the fifth floor. No floor below fifth floor is vacant; also
no odd numbered floor is vacant. Only S lives between T and V. T does not live on an odd numbered
floor. T does not live on a floor immediately above or immediately below R’s floor. Q does not live on
the bottom most floor.

Who lives on the topmost floor?

o lea SOl 8 0 55 (e 5y e s S Slaslas b ket

o Gl SOl paad S )18 Gae Qe (e Dlae Al Gl SO P QRS T U sl Vg sl alise SO s (e
= SA sl S e e (ST ok ol sl 22 i oS gl S Gl o1 i I8 )5l Syl K) L L, P ogasails
ot SA s ae Bla e SS i (S S SS et Hl8 asaih Wy 5y DB T sl V gl S
CpaS. U T Wy ol Sae AT noshod R 2 W) o o Jxibsng) SQ e
= B o g s s

§ 2 B S sl o)
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AQ
AQ
AQ

B.S
B.S
B.S

CR
C.R
CR

D.V
D.V
D.V

Answer: A.Q
A.Q
A.Q

114 DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options,
choose the one which can be substituted for the given phrasal Verb.
Their taxi pulled up outside the church.

A.stopped
B.repaired
C.damaged

D.accelerated

Answer: A.stopped

15 faemeafar snarTH® ST SadT, & St ST AR ATel-

In helping students to make educational plans, it is unwise for them to—

A AR fAugigg sar faud T oA

A.Mix general with vocational subjects
ALl S ale gl S Gualias Al 5~y
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Answer:

B.UHTY &3Tdid 94 [Augit fAas Hor

B.Select all their subjects from one field
B.orS e —u Olae S S (alias plad S ()

C . HeTdenad ya=ydia fawaid wfed uor

C.Take typing with college preparatory subjects
C.LBudl gl S Galias S s )l (S @l

D.Jeid U auTUET SIRd BRIhH! daR] @l

D.Plan their programmes more than a year ahead
D.e S G mseaie o Jus SO (S sel K55 S

B.UHTd &3Tdid 94 faugit fAas &or

B.Select all their subjects from one field
B.oi S il —w (lae S S (palias ol S )

y2 — 26y + 169 = 0 TT T THIBIUT! Heb 3R

The roots of the quadratic equation y?— 26y + 169 = 0 are:

gy S Gl b @i 3e y2 — 26y + 169 = O

A13,13
A13,13
A13,13

B.-13, -13
B.-13, -13
B.-13, -13

C.13,2
C.13,2
C.13,2

D.-13, -2
D.-13, -2
D.-13, -2

A13,13
A13,13
A13,13
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17 I TS URATA Ueh U@ faURied IR fau™ 3igd Sai=arare! A, B, C 30T D 3/ 9R faum
3{TRd. HHAR faemi SISt st S wyd faum ga=n faumrer gaad, snfir 3t faum afbeese
g faurred Afed s,

SR T AT Hea gqal, o) 1t Tel SeITIRIA dTeg [
A. T T el Odal

B. T HTET Jedll Hdar el

C. Tl T YRR arada

D. Tt Tl HiehT 813s fael

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and
D. Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

If he takes my advice , | will prevent him from taking risk.
A. he took my advice

B. he did not take my advice

C. | prevented him from taking risk.

D. I let him take the risk.

S 0o Shuie gpand g K 0 _wal Sl ) e o) laa s an S o alaa Sl e Jlse e il
op Githe S ol S e ihie ea 53 sl by Se Ll Hgl (S ales o e alea Sy (b - i

00 Sy Syl e s Sdae i Hsdia g gmss K
Al e o) giiia | ype 5l

Buuuﬁ,sb”ﬂm\ﬁ:aw\-

Cllly v 2 Sy ) S

Dl il Syl 5 -

A.AB
A.AB
A.AB

B.BC
B.BC
B.BC

C.DA
C.DA
C.DA

D.DB
D.DB
D.DB
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Answer: D.DB
D.DB
D.DB

118 WU WifeaTh e e,

AT

B.Ud

D.ad Id

Answer: D& ﬂ'qg

19 - e wReya Aol quf #RemT 19 3l Hasn

DIRECTIONS: Complete the series by choosing right fisure from the given choices.

S S Al SS St jeal mixe o e USR] 8 Srolin

e

WA HTpdl

Problem Figure
e .}S- als .

AN ot Y m Ime

SALRIST TR g
i Flod I igh P2
A B C D
A. (A)
B. (B)
C. (C)
D. (D)

Answer: C.(C)
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Answer:

Wit 3 ATF B ?

A.G&Id dra-Td T dcd BT ST,
B.TUTeh S 4! AV HISH TS Sladd.
C.J HaT 3H= URaTel GRE Uid e
D.Scugran ftard i fasy e,

C.d eI 31 UaTel eRe Uid fea.

Wl U HIvTaT Tald AgaTE 8-1-URS 3TR?
Which one of the following is the most important audio-aid?

?C_‘\J‘-\A‘ ﬁﬁﬁ\dﬂ\ wé:&wdﬁﬁg‘)m

AN
A.Radio
A s

B. TGS lhR
B.Loudspeaker

B. S 35Y

OX-NEEEIL]

C.TV.
C.ss &

D.dl®l- Tt
D.Walky-Talky
D.S6 Sl

ARSI
A.Radio
Al
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eI AT AT SHS@edT SIdTd-
Ultrasonic waves can be detected by -

A QR
A.Telephone
A.osils

B.8s Ugd
B.Hebb’s method
B.oxcld IS Cu

C. P d Ugd
C.Kundt’s tube method
C.oocli Lo IS &8

D.fade ege
D.Quinck’s tube
D.sff 8 Sy S

C.Psd d Ugd
C.Kundt’'s tube method
C.oacli Lo IS &8

1S s a2l
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123 T WA o THHe Hiet AU 0T S18! FshY 3ied. WH=Td: J1d auaiuel d ovid SR av
fearett faem greTan I AFdt anTditer S1for IR fecied faemre srgevul fadeamie! siurdr fssy

oC Y
difchpeted] Hdl o 3l

faum:
A<ZzP>R>T
e

. T>Z

II.Z>R

DIRECTIONS: In the question given below, there are few statements followed by few conclusions. You
have to take the given statements to be true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusion logically follow(s) from the given
statements.

Statements:
A<ZzZP>R>T
Conclusions:

. T>Z

.Z>R

e e e S Gl e ey sk e S0 81 3 50 5 gaS aes S iy 48 cise s 5 ma e 1y
3 osh ~ilahaie aaii L S L8 Lo Gae 13 AS G S Aleaid IS by ol g sl 0xeS) o gled il 8 0o e 55 S S
= S om S by K

<l
A<Z=zP>R>T
il

T>Z.1

Z>R .l

AR Had | FhY @R 318
A.If only Conclusion | is true
A ipa RN o G anis

B.TR Wad || Fsms W1 318
B.If only Conclusion Il is true
B.rsii G pea S| = o

C.R | fhar 11 gt Te sy TR 3R

C.If either Conclusion | or Il is true
C. R sl = oo Sl s e il

DR 1T B il (5hY ¥R ATRId

D.If neither Conclusion | nor Il is true
D. A sl e onipd (o2 B5S an pe ils


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Addal247

Answer: B.TR Tad Il Fehe @7 318
B.If only Conclusion Il is true
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B,\A:Cuu)aﬁ\”cuhu)d
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G- Whoilel WA IR Hecal feodn 3ed. di9 Wecaiasd v [afde g w1 3o ee

AT T I AR Slal. A1 e doil Hipdl AT el

DIRECTIONS: In the following question, four five fizures are given. Three four are similar in a cerfain way and so

forma group. Find out which one of the figures does not belong to that group.

S 7B el sl e e N e D ek U/ T S o e 54
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1

t

(A) (B)

C.(C)

D. (D)

D. (D)

(C)

(D)
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=T e foha TTere faHdiar ufadrere | T80rd o,

Behaving in response to a request from another person or group is

g Rieuara wnfsas Anfex= Faemr s

Verbal guidance is least effective in the learning of

Add
A.Aptitudes
Al

B. IR
B.Skills
B.< )k

C.gul

C.Attitudes
C.dec Lk

D. ATl
D.Relationship
D.Aid

B.HITA
B.Skills
B.< bl
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Al

A.Acceptance
A.sshia

B.A®hR
B.Denial

B._ sl

C.3{Juleld
C.Compliance
C. oS dws

D.3{JUg
D.Obligation

D.u=_g
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Answer: C.31Julc

C.Compliance
C. oS dws

128

Answer: C.(C)

129 d = 707, D= Tachamy| 00

It is given thatd = 70°, b = 1209, then:
gt hvlivh = 120%:d = 707
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Trearl (A) &Tfor (B) Tohi= amea

(D) Both (A) and (B) are wrong

U580 (B) L (A) op Rl

oG’ HIRETIG PIOTT AT Ueh Slih 3MTR?
‘Bihu’ is a folk dance of which of the following States in India?

§ ool SH by ) S (e 0siely ) A~ die (S Gl s

AXTSTRYTH
A.Rajasthan
A Ol )

B.dfHesTg

B.Tamil Nadu
B. 53U Ja

C.3{MH
C.Assam
C. ol

D.JcR Uy

D.Uttar Pradesh
D. oy n A

GET IT ON
Google Play
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Answer: C.3dMH
C.Assam
C. ol
131 ‘TG ¢ a7 Xeard [avgTf Jreq PHIUKT 2
A NGBS
B
C.IRIHH
D. 3Gy
Answer: A DBy
132 WA Y& eg DIV 2
A STtamars
B.foramrs
c.Siamus
D.Siiaue
Answer: B.fSramure
133 TPT Uk UTHIY YT 8T AT Udh JUIHIRITUET 154 = SIRd 31Tg. <t GBAT HIeT?

One fifth of a number exceeds its one seventh by 154. Find the number?

vug‘)SeJSMJJD.“L}},\.\jf154Caﬂcmu£ﬂuéw\mu‘ﬁglsddsh_&g\

A.2695
A.2695
A.2695

B.2606
B.2606
B.2606
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Answer:

134

Answer:

C.2700
C.2700
C.2700

D.350
D.350
D.350

A.2695
A.2695
A.2695

= Treia usme Uy e (?) S &1 Asa?
475 + 0.64 x 950 = 900 + ?

GET IT ON
Google Play

DIRECTIONS: What will come in place of the question mark (?) in the following question?

475 + 0.64 x 950 =900 + ?

TS R S (9) s il 0 Y g i
475+ 0.64 x 950 =900 + ?

A.183
A.183
A.183

B.233
B.233
B.233

C.1983
C.1983
C.1983

D.1863
D.1863
D.1863

A.183
A.183
A.183
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135

Answer:

136

Answer:

81

e

4096

Ple T UHR 3Ho—
‘Cod’ is a variety of—

Lt e S S S

AHE
A.Goat
A.sse

B. AT
B.Fish
B.lexe

C.Ug
C.Crop
C.J=i

D.Udlcd
D.Coral
D.&ise) sl Jas)

B.HIHT
B.Fish
B.clex=

GET IT ON
Google Play
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137 9= {1,3,5,7, 9, 11, 13, 15} AYA Aef=5H Y0l HaSciear G 3 AT USId UG FHH

The probability that a number chosen at random from the set B ={1, 3, 5, 7, 9, 11, 13, 15} being a
multiple of 3 is

Ei A oy ISl 1§ S G B = {16 36 56 76 96 116 136 15} cin M s 3 e S 038 obita s 1) i oy
—

A1/4
A1/4
A1/4

B.5/8
B.5/8
B.5/8

C.3/4
C.3/4
C.3/4

D.3/8
D.3/8
D.3/8

Answer: D.3/8

D.3/8
D.3/8
138 YT WA W STRITel UATaTie] SIoTea) U Heheiic WA el AT e
DIRECTIONS: In the given question find the answer figure in which question figure 15 embedded.
e Sgad S SVlae e e 8 AW S el F sl e Jlae 25 202l
o & T
G = - , i! j i\ : ; :i ‘
A 1 > 3 a
A. (A)
B. (B)
C. (C)
D. (D)

Answer:  B. (B)


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Addai4

139

Answer:

140

GET IT ON
Google Play

A1 Wellol WATT PGl Teh dobsdrell WATdel HThdld gr@ deddaeT 9537 Sidedl Hied.
IoieTEe TR 7L il [SasT S HIG Useasial Seiseedl HIG TaEd grEde.

DIRECTIONS: A piece of paper s folded as shown below mn the question fizures. From the given answer figures,
Indicate how it will appear when opened?

'.:-_,:',_,'L'is._;'—_-"d‘-'!'._;sﬁ—' o Gl [ae j'h”.:{ A e

I8 1 B S g e S A5 S il S ol

a

Question Figures

Ay

1)

A. (A)
B. (B)
C. (C)

D. (D)

C.(C)

[LE]

(&) oE

PIRCIREPIE] PIUTCH 3MTg?
What is the capital of Greece?

= el (S o K

A TSI
A.Macedonia
A sS e

B.JH
B.Rome
B.aso

llam e K3 S 2 250 (N S SEE bl
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Answer:

141

Answer:

142

C.31%=g
C.Athens
C.omned

D T1fetfaR
D.Palikir
D._sAly

C.31%=g
C.Athens
C.omued

STARTSTY IR e el AToRT el STl

When is the International Yoga Day observed?

.dUBQhAuA@ﬁGAb

A.21 S
A.42907

A .21 0

B.22 5
B.42908

B.22 us>

C.23 9
C.42909

C.23us»
D.24 S

D.42910
D.24 (s>

A.21
A.42907

A .21 05

“ I * T e TaT AT Weg HIvrar 2

A faa
B.SITULAGS[T

GET IT ON
Google Play
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Answer:

143

Answer:

D.guR

feoren gafaimyA ae 7 FasT.
Choose the odd one out from the given alternatives.

iy S 5o ot o oo e K

ABICE]
A.Novel
A.dsu

B.9duA
B.Neswpaper
B._Lal

OAERREAINED
C.Magzine

C.on b
D.gfer=raruit

D.Television
D.03s i

D.gRfeai

D.Television
D.0%s 8

GET IT ON
Google Play

144 Jeidid a9 e GaTedT 39Tl i Ue 3118, 12 aN{HeR delaid a9 AT aamiel gue gisd. derard
AU 99 B 3Mg?

A father is three times as old as his son. 12 years later the father becomes twice older than his son.

What is the present age of the father?

€ LS e oasnse (S Ally o s o) W S e (S T e (Sl o 12,215 W8 0w el I

A.36
A.36
A.36
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B.48
B.48
B.48

C.54
C.54
C.54

D.42
D.42
D.42

Answer: A.36
A.36
A.36

145 Fill in the blank with the correct article.

A.The

B.A

C.An

Arctic Ocean is the smallest and shallowest of the world's five major oceans.

D.No article required

Answer: A.The

146

RS =Y I
67+(—67)+67+(—67)+67+(-67) =?

Simplify:
67+(—67)+67+(—67)+67+(—67) =?

u,.u\_u adl.ua:
67+(—67)+67+(—67)+67+(—67) = ?

A.100
A.100
A.100
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Answer:

147

Answer:

B.1
B.1
B.1

C.0
C.0
C.0

D.10
D.10
D.10

C.0
C.0
C.0

GET IT ON
Google Play

AT FEGAT Uk IRE STl 9=l (HE) Abdld &rafdoard# oT HmseEl gl g54a1
el @ #ih GISell oY i SeleTsedlcy Sl fatier? IWIGRIe fGeledl A, B, C, 30T D GaRIiagT

AT 3Tl Foidsr.

DIRECTIONS: If a square sheet of paperis folded two times from the centre and cuts are made as shown in the
problem figure (or main figure) how will it appear when it is opened? Select the appropriate figure from the Answer

Figures marked A, B, C, and D.

_p&.e:j;__,.f:‘_lhu J_L;.u|J_9| — Ll U_q,n 2@ g3~ L Pu 8 L;uul _95 Gy _J_gf_gg Sal 28 ﬁﬁﬁl :l.'.-l..gl.l-ﬁ
sl <5 D ol (C.B A SE 2l lai s o5 1 2 lsg g bl BE sullas 25 (useai ols L)

HET AFal FERTETS! T4l ATFear
Main Figure Answer Figures
pguai pols rsbos oS wls=
il E '; 0°.°0[ %o (%, | [&Ue0S
; | ofloflo 0 O gg & o
j A Do—ol| |&°°2%| K§ ofolo
N A B 5 » D
A (A)
B. (B)
C.(C)
D. (D)

C. (C)
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148 T iUl Ui FHafor HRoarret, @ et (P), (Q) (R), (S) 30T (T) B UM a1e’ Ay SfIehdM
TAREHT R TR ATdrd 9! 3R I,

P. ST Al S S1for I ol Jb el fHesarad 3xfda.
Q. TR} FTeld ST AT Ul FATRIA Ud SHeriSTal arTd g,

R. @M Uldfdards g faa 3l I dis ITScTeRIsR o AT Jdh sl UTudTd Usal 3T ey

ATl

S. Tk feah, THhT $M T AT gael ufgd.

T. Al ST SRIAH, T ¥ad:d Uidfde aroard gfgd o1 gORT U HA1 HiTel g sl U Siid el
[CIEACEINCAIE

J A HeHdR WU B arad R 3ra?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence
to form a meaningful paragraph; then answer the questions given below them.

P. The dog got greedy and decided to have that piece as well.

Q. As it walked home, it had to cross a bridge over a stream.

R. He snapped at the reflection, and as soon as he opened his mouth, his piece of meat fell into the
water and disappeared.

S. A dog found a piece of meat one day.

T. As it walked, it saw its reflection in the water and thought it was another dog with a piece of meat.

Which of the following should be the THIRD sentence after rearrangement?

ostes &b o) 1@y (P)e (Q)¢ (R)¢ (S) ush (T) ushlswe =8 23 2 sen ¢ Jmad i i Jlss A Sl |y siae b S
el S

P. L lils 1355 55 e 55 Db e @Y S S

Q. Wb LR wdy ) S s sSule G Gaph (S e 55 o

R. L8 568 sl L8 8 (e (AL 1358 1S i K oW 568 i Wl il (ism ) cleSiss (2 Lle 5.
S. oIS S i S S8 sy,

T SAI3S S i 8 US| st m laig sl (6500 (e n ome G il Sy 55

S s Lig ot alea L S amy S S o5l

AT
AT
AT

B.P
B.P
B.P

c.Q
c.Q
c.Q
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D.S
D.S
D.S

Answer: A.T
AT
AT

149 A sentence with an underlined idiomatic expression is given. What is the meaning of the idiomatic
expression ‘nip something in the bud’ in the sentence given below?
I've noticed that Tommy's getting in the bad habit of chewing with is mouth open. Let's nip that in the
bud.

A.To stop, cease, or prevent something at the beginning or early phase, before it becomes too difficult
or unmanageable

B.To encourage or promote an activity owing to its beneficial nature
C.To undergo a surgical operation
D.None of the above

Answer: A.To stop, cease, or prevent something at the beginning or early phase, before it becomes too difficult
or unmanageable

150 Out of the given four words only one is spelt correctly. Find the word that is correctly spelt.

A.Familiar
B.Suprise
C.Successfull

D.Suparceede

Answer:  A.Familiar
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151

Answer:

152

fEciean wafaite! dmes o FAasT:
Select the odd one out from the given options:

S die € Jaa o e gpe ksl K

A.MOON
A.MOON
A.MOON

B.ORSW
B.ORSW
B.ORSW

C.JKLT
C.JKLT
C.JKLT

D.FGHP
D.FGHP
D.FGHP

A.MOON
A.MOON
A.MOON

GET IT ON
Google Play

B 81 C1 3feliaia THad Haitd Uheld Jd 3Te. C 1 dfsdid B Mad Ald H1?

B is the only child of C's paternal grandfather's only daughter. How is C's father related to B?

CB e anly € guoaly Shh S CEQl _SB¢ o ai)ls

AHTHT

A.Maternal Uncle
Al

B.®IhT

B.Paternal Uncle
B.laa

casd
C.Father
C.<b

D.JT0! BTel ATt

D.None of these
D.us &S = o O
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Answer:  A.HMHI

A.Maternal Uncle
Al

153 TR TR Aol ORI gad 30 Hier SfaRTaR 3MTg. AT O aTofeT ORT=AT STl 40 Hier SfaRTaR 31T,
R gt 3o areen eRige favd! 3iaR 31mg?

Charu’s house is to the east of Vani’s house at a distance of 30 metres. Reema’s house is in the north
direction of Vani’s house at a distance of 40 metres. What is the distance between Reena's and
Charu's house?

40 U Gan S Jled S 68 S s pe8 Slayy . o Lali S 5 30 Cish S B de S 58 S Sl 58 8 5l
§ o abald WS ey S 58 S 5 )la ) g o Lald S jie

A.50 Hiex
A.50 metres
A.50 siw

B.30 Hic?

B.30 metres
B.30 i

C.20 Hiex
C.20 metres
C.20 fiw

D.10 Hiex

D.10 metres
D.10 fiw

Answer: A.50 Hie
A.50 metres
A.50 fim

154 TRerT Rigiarg ol URieaRd JIURUTT  fIpRyd HRugmar i A Medierd . @«
T8l higd BT

In Erickson’s theory individuals generally focus on developing during adolescence and then
during adulthood

e gl 20l =2 )s) R SA S Olosd S gk Gm g oshale padida fie Bildae S ki S S
e
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A 315G Sacstdh

A.identity: intimacy
Ao Baalid

B.SId31%: 3d

B.intimacy: identity
B.calidicy 8

C.5ldoseh: ayd fayra
C.intimacy: basic trust
C.olkie) ol icu

D.gaHd fayr: Siacdie
D.basic trust: intimacy
D.<w jialaie) (ol

Answer: A.3{@d: ddIH

A.identity: intimacy
A faalil

155 FEAT: Te FYA S O AR, o SO 3 e S w3 WEE THAwT (A), (B),
(C). (D) HITOT (E) 3T EeledT 5 TATATIR SIUICATET THT TSET UaaaeiT Hatdd Hed. HI0T Haer
cATEUAT 1 O WIE S @ed MedagN aiEideel ARl FOTHETE qodT SO Haw
FEUTS Y o HEH.

DIRECTION: Out ofthe four altematives in each of the following questions, three altematives are such
that the three words mn each arerelated amongthemselves m one of the five wavys represented by (A). (B),

(C, (D) and (E) below. And one of the altematives represents a relationship which is not represented by
any of the figures given below. The relationship that complies this condition is vour answer.

w0 Sl it 0 s o B ot el B 5 o Kol S il il s o LB gl B e B e s Sy

o o jin Saidlad o8 2 e Fae(A)(B)(C)(D) B(E) L= phadiles 8 3 mul olie Sl sl o 02 05 s 5
=l 18 ol plly A | ke el -y 08l oS e RS 5 S g gl o o oy B S e oy

@G@Qo

(A) (8) {c) o)

(2) Star, Moon, Mars / @RI, T8, AT 0 cils o1l

{b) Professor, Scholar, Politician / AT, THEA, TATHOT s Saibit o il ¢ ot 5
(c) Nurse, Doctor, Woman / TRTTRET, ST, T s S s

(d) Swimmer, Carpenter, Singer /| SFA0L0TIE, T, T 52 (o o £

A. (A)
B. (B)
C. (C)

D. (D)

Answer: A. (A)
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156 fR1e/ T UredH SNfOT 3AYdT <ot foRAIs =T STadid fRIidwad 38

A teacher is speaking about the contribution of Medha Patkar and Amrita Devi Bishnoi is teaching
about

=l Wiiest by Sl e o b S aas S g o5 Wyl sl S Waase i) (S

AN YaeT sfiqra

A.Water conservation movement
A St (Shias S b

B. A3 dT URIK(IhRUl BB
B.Woman empowerment movement
B. S (S Sl Jlialh S )e

C.UTiaR it qHwT

C.Environmental issues
C. Jlua Sl gala

D.aTU®! Tl ATal

D.None of these
D. 0% &2 &S = 0m O

Answer: C.TITaRUNT JH=T

C.Environmental issues
C. dlue Sl pala

157 3ot famdt sirsrean ArTores YRR ufdfdd fGudrd a @i smIisie $drd e Hwd. o=
URIRUTAT AT HRUGMTS! S0 BT HRIA?

Our students are having exact mirror-image of the modern society’s corruption and indulge in anti-
social acts. What will you do to cope with it in these circumstances?

= 0 o usls O o Ssle (e dee ales Qi 5l Gn e Gillae e 1S Glsie (S 2 8l daale Gl ol
?éwﬁlﬂs‘r’ic‘décﬁ‘”

AU TS JHTS YYRSD §04Td T B
A.You will attempt to emerge as a big political reformer
AR oS i S (S i IS el b 152 Sl G

B. 3TN i1 34T HATURIA R AU TId H&
B.You will try to keep them away from such maladies
B. =S oS (i S (S S, s e A S ob ol S ol
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Answer:

158

C..3{T9UT FiAT SRS AgigR FAd= 78 3q

C.You will control them through disciplinary rules

C. RS Us S )y Sl d Shua yahi £l
D . Risauarsnel, wad: a1 TgTd Th STGR] I SauR.

D.Before giving them lessons, make your personal life to emerge as an ideal teacher.
Do sk S aiad (Me S 58 (S5 I (e oy o o G

D T RaauanaeneR, Wd: a1 SgTd T 3MERI fRI&d SaUIR.
D.Before giving them lessons, make your personal life to emerge as an ideal teacher.
D.oiliy  osh S bl (e Sl S (Baih (33 () e iy e i (B,

A& wrehia wrsai=ht ZUel Yesadp IR Arsuft H.
(a) Brook

(b) Bandit

(c) Boisterous

(d) Baffle

(e) Bright

DIRECTIONS: Arrange the following words according to the English dictionary.
(a) Brook

(b) Bandit

(c) Boisterous
(d) Baffle

(e) Bright

Brook (a)
Bandit (b)
Boisterous (c)
Baffle (d)
Bright(d)

A.(b), (d), (c). (a), (e)
A.(b), (d), (c). (a), (e)
A.(b), (d), (c). (a), (e)

B.(b), (d), (c), (e), (a)
B.(b), (d), (c), (e), (a)
B.(b), (d), (), (e), (a)
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Answer: D.(d),

159 32x92=37x9
32x92=3"x9

32x92=3"x9

A4
A4
A4

B.3
B.3
B.3

C.6
C.6
C.6

D.2
D.2
D.2

Answer: A4
A4
A4
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160

A. 120

B. 34

C.124

D. 123

Answer: C. 124

161 a1 TATQT TG foh | IR WY HTU B 125 A 0T TR JhSdiHed HIUa Tdl 378, O
PHTIUINTS] TaRIH 3T U] fhH BT BT 3178 ?

A cube is painted and cut into 125 smaller but identical pieces by making the minimum possible
number of cuts. What is the minimum number of cuts required to cut a cube?

S S S, g B ES (San oS _w oS WS BIS (e 5558 Ssen s SOV 125 S 20 K5 S S
(S B pa S K8 u S

A2
A12
A12

B.8
B.8
B.8

C.6
C.6
C.6

D.10
D.10
D.10

Answer: A.12
A.12
A.12
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162 Tl HRUIRT -

ATTER

B.Had
cfca

D.HIC

Answer: D.HIc

163 fRrarpm™ aurid QaifOre IURTASHT SHdATd IS Wiaddd! BT dedTd UTa BRIa?

Which of the following principle should be followed by a teacher in the class during application of
teaching aids?

€ ila S (55 S sl b i S il S 0l s S U1 S 5 Kind (e 0IS

A sfsd faematan It ggHnT

A.Active participation of the student desired
Al Jld (S el llas

B.faemafen siHe dama Sarar

B.Enjoyment of the students should be kept in mind
B. s beS,) e (0 Bkl 1S sale il

C.SURIHISHHAT &R Gelidh1 ol i3, RIdbd AATg!
C.Evaluation does not carry out during application
C.2s s o ot Ol ysd S )

D.g8aue! Ue g et
D.None of the above
D.uosd &S = e

Answer: A.E%_d ﬁmwﬁ RG] e HIT

A.Active participation of the student desired
ALES 55 Jlad (S el o gllas


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Addal247

164

Answer:

TETETAT WY U0 ATTegad! SRIaien feidr Siorgul a1 SHfg@dar Burdrd

An orientation in which one feels primarily concerned with one self

GET IT ON
Google Play

e UeS) S o Ol G s sl il B S Gepima gy gl (S (e oo Ol L

.L_)U).&.S

A THING Wd

A.Social self
A0l ales

B.3{TH T4
B.Self pride
B.sxiw a5

C. AN W

C.Personal self
C.ld glé e (Personal self)

D.HdlYd Wd

D.Relational self
D.alis Ji gu) Sl L)

C. I Wl

C.Personal self
C.ld Qlé e (Personal self)
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165 AT Wl fEaedn UHTd Ues e S8 AT | 31707 11 3R & FFeh s araTant Sifdhd dhaiat Mg, a1 SR

aid g uai FHasT.

faym:

HYRA WDHRA I AU HI-Tasied IdTg Yo dIgdd 3Te.
fsam:

|. YR WHR M1 aveTd og.

1. YRd IRHR TR T Bl bheugry qad I1g.

DIRECTIONS: The question below has a statement followed by two conclusions numbered | and Il.
Based on this choose the option that is most suitable.

Statement:
Government of India has increased excise duty on Gold for increasing its income.

Conclusions:
|. Government of India is in financial crisis.
II. Government of India is unable to pay its loans.

U g0 am S ol Gl Gae Jlgm 8 o s il | gl ] - S QA 1S A G5 Sl by S Gl oom 8

.Lu.
O
b S Nl e S ISl (S e g (S U S ) e il (S e

=
l. dwo\ﬂgum)&égﬁs\_
I = el o S 1) S a8 i) CaagSia (S LT,

A Fdes et D | [TUFRT SERe 3R

A.Only Conclusion | follows
A i Goga | K5 LY

B.%a® My I || AU Sae o

B.Only Conclusions Il follows
B. ~aiii Gy || & 50 &Y

.y Hi® | fhdT Il SrTeRe 3

C.Either | or Il follows

D.PIUAre! sy 3rae el
D.Neither | nor Il follow
Dl os 118 5 SY er B5S —w 0e
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Answer: D.ﬁ'UFI'ITsﬁ Elsa S :l'IEOI

166

Answer:

167

Answer:

D.Neither | nor Il follow

D. 1 osl 118 5 &Y o2 (S5S —m e

AT BT Xeg "I IT RSGIaEH STl Mg ST 37 ST gt
Personality comes from the word “persona” which means

L_)Uj:a;.\ﬁmlsw_;cgj)iucm"uju#".&ﬂ‘sﬂm)g

AACHIY GEacl
A.Theatrical mask
Al 8 gial

B.3{THT
B.Soul
B.zsw

c.4d
C.Self
C.aa

D a8t HIuae! e

D.none of the above

D.os sS mope Yog

AAEHIY gEdcl
A.Theatrical mask
Anla S piai

GET IT ON
Google Play

Out of the four alternatives, choose the one which can be substituted for the given words/sentence.

An animal that lives by killing and eating other animals

A.Predator
B.Amphibian
C.Quadruped

D.Biped

A.Predator
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168 fRfRrr=Ta 9 auiHaR U@Ur o I9hH ffesd, SR M F. 11,200 Tda! XahH SfR1 Aiod Jada oif di-
VTS GHTCR! 8.5 R TR TS YaH HRd?

What total amount would Mithilesh get at the end of three years, if he invests an amount of Rs.11,200
in a scheme which offers simple interest at the rate of 8.5 p. c. p. a. for three years?

SS G e gl Sl o w53 (S AV 857 s = UK e ) ol Sl a5 11200 ) S Galgia R
U S daladd) o gaan (I8 5 Sl du ey 8 o

AX. 14,056
A.Rs.14,056
A. 14,056 ~5)

B.X=. 14,348
B.Rs.14,348
B. 14,348 ~us5)

C.x=. 13,852
C.Rs.13,852
C. 13,852 ~xs)

D.%=. 15,064
D.Rs.15,064
D. 15,064 ~s.

Answer: A.X. 14,056
A.Rs.14,056
A. 14,056 ~s)

169 faeidll srgenaad : g + Sfir +, U 3HTHS 6 M 4; W6 +2x7 + 4 —3d ey fabell ?

Given interchanges: signs + and +, and numbers 6 and 4; then the value of 6 + 2 x 7 +4 - 3 is

ol S3-4 47 X2+ 6 54 55 6 sai ) et sl + e 1 il €

A.2
A2
A.2

B.17
B.17
B.17

C38
C38
C.8
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D.15
D.15
D.15

Answer: B.17
B.17
B.17

170 T DI AT B, T&ft AT FH= Fieam e ATd Jarad a=iad?

GET IT ON
Google Play

Which one of the following diagrams best depicts the relationship among Pigeons, Birds and Dogs?

o SIS Gl ope D1 i o€ lalad lae o S S ) s e S ) RUIS o 58 u pe D a ke

w @O
® OO
@
(D}
Answer:
w @O
171 NI STS] gUIC HRUATd T, AT &t ol caai=t area?

The sides of a square are doubled. By how much percentage does its area increase?

5 aee B LS, Il G a5 b (S e S
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A.400%
A.400%
A.400%

B.300%
B.300%
B.300%

C.200%
C.200%
C.200%

D.225%
D.225%
D.225%

Answer: B.300%
B.300%
B.300%

172 20 HieR HIUSTH! faht B, Taritel 4 Hiex BIusH! fawt fhad fied. TrRN cdhdR! ST 3e:

By selling 20 metres of cloth, a man gains the selling price of 4 metres of cloth. The profit per cent is:

20 3 2o gl 315 S Juala o (S 05 8 (S o 5 i 4 (i S s S g 3 13S S

A.20%
A.20%
A.20%

B.25%
B.25%
B.25%

C.30%
C.30%
C.30%

D.35%
D.35%
D.35%

Answer: B.25%
B.25%
B.25%
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173 TEAT: Wl fedean faum (A) Sfor HRur (R) A8t Wreitd Ut 9 wafg fAge:
AU (A): TTRTIT SRTOGTTAT SRS TRl 6.
PR (R): HENNRAL oo Tal.
DIRECTION: For the Assertion (A) and Reason (R) given below, choose the correct alternative from

the following:

Assertion (A): Fish do not need oxygen for survival.
Reason (R): There is no oxygen in oceans.

Ol 28 i 2 1l (A) sl (R) 028 idie dilie s s (e did e o ) S as

Ol (A): = o s pia (S Sl A S jaai) S silena,
~a 5 (R): = i e oSl (S S (e diens

AT (A) ST (R) T 3R 3NN (R) (A) T T TTSIHROT 318
A.Both (A) and (R) are true and (R) is the correct explanation of (A)
A. (A) L3 (R) s o e U592 (R) (A) = Sabia g Can o (S

B.aIg (A) 31T (R) WX M1, TR (R) (A) T T TBIGH0T T}
B.Both (A) and (R) are true, but (R) is not the correct explanation of (A)
B. (A) o5l (R) 05 o mnam 05352 (R) (A) = it alamy s 2 (S

C.(A) T 38, T (R) TI< 38
C.(A) is true, but (R) is false
C.(A) S = maa (R) m Bl
D.EIT (A) 37IfYT (R) WIS 3MTed

D.Both (A) and (R) are false
D. (A) U3l (R) o bl U3

Answer: D.GIg! (A) 3o (R) QIc 3ed
D.Both (A) and (R) are false
D. (A) L3 (R) un hle sig

174 Out of the given options, choose the most appropriate one to fill in the blank.
The singer from humble origins to become one of the most successful entertainers of all time.
A.has risen
B.have rise

C.has rise
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D.have rose

Answer: A.has risen

175

Answer:

GET IT ON
Google Play

HETAT M= "7 fohaT TR § SeaTe It ARTHS AT MUV 8l

Mahatma Gandhi’s ‘Do or Die’ call was to galvanise people for the —

LS i S U8 o a8 lila a3 S B S 55 5 S

A.3UgHR Joddad
A.Non —cooperation movement
A.Soai (S sl ae (Non Co operation Movement) - S

B.Gial amm
B.Dandi March
B. = Sz ke 533

C.YRd Bls! I5dD
C.Quit India Movement
C. = S Soni shses Gl

D.IR HRARY! T5ID
D.Direct Action Movement
D.Saa3 Sl s,y <l ol (direct Action Movement) = S

C.YRd BIS! TJ5dD
C.Quit India Movement
C. 2l S 55 @ le

176 fafRre ST i< aR@aR YR G fdhdl 3ifYdh AL Wb DHRUI WUl

Distinction between two or more persons on the basis of person’s membership of a particular group

ANITddIq
A.Casteism
Al b

B.UIR
B.Diffusion
B. oLail ¢ Dbgy

Oile S el 0 w50 h 50 ol (S ee (S Qs K pald S
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C.NgHd
C.Discrimination
C.ole 2e

D.3Nad

D.ldentification
D.calil

Answer: C.QT:{Q-HH
C.Discrimination
C.oler 2e2

177 HHRYD &Hdd THIAY 3MTe-

The mental abilities include—

o el e sl -

A TRURIGRT, do, faaR @ Fftfdiem
A.Memory, Reasoning, Thinking and Creativity

AGA:\LS BY) & cé.]:-.'u. ccuilaly

B.3{TTS, &l 30T HIaHT
B.Interest, Attention and Feelings
B.olalaal JJ\ A~ c@u%jJ

c Tifaefiaarn

C.Dynamism
C.S,x

D. gRIh1- HIeT &HdT

D.Psycho-motor Abilities
D.ofisdla 55 -l

Answer: A FRURIEN, I, faaR g e
A.Memory, Reasoning, Thinking and Creativity

ALﬁglaﬁ BY) T ‘ék.'m ccuilaly

GET IT ON
Google Play
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178

Answer:

179

Answer:

TYTITS ! T JeiTe HferdhT ot &,

1B1, 2D2, 3F3, 4H4,

DIRECTION: Complete the following series.

1B1, 2D2, 3F3, 4H4,
-0 S JaSe S S dd maodierculy ol S g

1B1, 2D2, 3F3, 4H4,

A.316
A.316
A.316

B.613
B.613
B.613

C.4J6
C.4J6
C.4J6

D.5J5
D.5J5
D.5J5

D.5J5
D.5J5
D.5J5

(82— (3)* _

5
i

A 11
B. 12

C.13

GET IT ON
Google Play
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180 I TS URATA Ueh U@ faURied IR fa4™ 3igd Sai=arard! A, B, C 30T D 3/ 9R faum™
3{TRd. HHAR faemi SISt st Same uyd faum ga=n faumrer gaad, snfir 3t faum afbeesen
g faumred Afed s,

ATS 3MTS AT TR Jfad HRd 31Te fhal U7 g Hd 3R,
A. FTT 3TEA AT Jsfdd .

B. AT 354 AT Y Sfag Bt gl

C. HTST 35+ ATl U Heh P,

D. HISAT 3T AT U b bl ATal.

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and
D. Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

My mother cooks either sandwich or pan cakes for the breakfast.
A.My mother cooked sandwich for the breakfast.

B.My mother did not cook sandwich for the breakfast.

C.My mother cooked pan cakes for the breakfast.

D.My mother did not cook pan cakes for the breakfast.

S 0sSes Shuie gpand o 8 wal S 63 ) e o) laa s an S o alaa SOl e Jlse e il
op Githe S Ol S e thie ea 53 sl by Se gl Hg) (S ales o g alea Sy (b - i

SS O b o ol 7 sRie b ae 36 al (5 50
A g sSi (pe 580 5 oal (5 e -

B2l g gz st (e 8l 5 e (5 e -

C ol S8 O oo 13U S (el 5 -

D 2l (e S8 O e U 5 (el g e -

A.BD
A.BD
A.BD

B.DA
B.DA
B.DA

C.CB
C.CB
C.CB

D.AC
D.AC
D.AC

Answer: B.DA
B.DA
B.DA
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181

Answer:

182

SR A 81 B =1 a1 Al U3 38, 'A' d 'B' Tidd ATd &1 3Mg?
If 'A" is the brother of the son of B's son. How is 'A' related to 'B'?

‘)g‘IBI'A'C-“g;’LG—‘LSC-\L-UCS 'A'LSB'QC.)MJQSCM

A HS
A.Brother
Al

B.ddd HIS
B.Cousin
B.a) s

C.dhh
C.Uncle
C.ls

DA

D.Grandson
D.Us

DA

D.Grandson
D.Us

TiferhdT Ae0d HIel:
30, 60, 70

Find the median for the series:

30, 60, 70

o (0ime) o) 1S dlae ) gy 0
30, 60, 70

A.50
A.50
A.50

B.55
B.55
B.55

GET IT ON
Google Play
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183

Answer:

C.60
C.60
C.60

D.40
D.40
D.40

C.60
C.60
C.60

HIeRA ] G&Id: 4 d81d
Sabarmati River majorly flows in

=S Ao b Hele

AJSRTY
A.Gujarat
Al 28

B.faeen

B.Delhi
B.ob»

C.UH .
C.M.P.
C.z

D.gut
D.U.P.
D.s2-s

ATSRTY
A.Guijarat
A sl

GET IT ON
Google Play

184 =T I sl Sldih g Uraedl RIFIAR TR I bl g UISToHT RIMER 3g. dR IAd gal fobdt 2

Bob is fifth from the left and is sixteenth from the right end in a row of children. How many children are
there in the row?

f o e S e SIS el ik alad (ae SIS (S e Sl sl el e il L
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A.21
A.21
A.21

B.22
B.22
B.22

C.23
C.238
C.23

D.20
D.20
D.20

Answer: D.20
D.20
D.20

185 Uoh1 fAfRIY Hichfoier T, SR BUG = 90 3101 ALMS = 180 3T Hedtg dhell SId 3¥d, CADET?
In a certain code language, if BUG = 90 and ALMS = 180, then CADET?

9081 cLe (1) S Sl (e pade Sol= BUG 180.5)= ALMS 5i CADET?

A.153
A.153
A.153

B.165
B.165
B.165

C.175
C.175
C.175

D.148
D.148
D.148

Answer: B.165
B.165
B.165
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186 T Ul Ui fFHafor HRogrret, @ et (P), (Q) (R), (S) 30T (T) 8 UM a1e’ Ay SfIehHM
TAREHT RT; TR ATard 9! SR .

P. ST Al S S1for I ol Jb el fesarad 3xfda.
Q. TR} FTeld ST AT Ul FATRIA Ydl SHeiSTal arTd g,

R. @M Uldfddads g faa 31 I dis ITSTeRIsR o AT Jdh sl UTudTd Usal ST 3exd

ATl

S. T fea=h, THT S T AT gael ulgdl.

T. Al ST SRIHI, I ¥ad:d Ufdfde uroard gfgd M1 gORT U HA1 HiTel g el U Siid el
[CIEACEINCA

JRE HIHdR WAaUe! HIvd e rad Sd?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence
to form a meaningful paragraph; then answer the questions given below them.

P. The dog got greedy and decided to have that piece as well.

Q. As it walked home, it had to cross a bridge over a stream.

R. He snapped at the reflection, and as soon as he opened his mouth, his piece of meat fell into the
water and disappeared.

S. A dog found a piece of meat one day.

T. As it walked, it saw its reflection in the water and thought it was another dog with a piece of meat.

Which of the following should be the FIFTH sentence after rearrangement?

ostes &b o) 1@y (P)e (Q)¢ (R)¢ (S) ush (T) ushlsw =8 23 2 ey ¢ s i i Jlss A S iy |y siaa b S
el S

P. L bl 1355 55 e 55 b e @y S S

Q. Wl LR wdy ) S i sSule NG Gaph (S 5 55 o

R. 8 568 sl L8 R (e (AL 1558 1S e K (W 568 i Wl il (ism ) cleSis (o Lle 5.
S. oIS S i S S sy,

T SAI5S S b 8 US| jusd m laig sl (6500 (len n ome S il Sy 55

§ s Ugposaibalaa g S am S S s g

AR
AR
AR

B.P
B.P
B.P

C.S
C.S
C.S
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D.T
D.T
D.T

Answer: A.R
AR
A.R

187

Answer:

188

Recidn fufea sadtdn Sraesan fdg —

The Near Point for Long sightedness defected person is—

= Uigy Gl gy o A S a8 g () A (S & jlay (Soap

A.25Y HIU&T 31fd
A.More than 25cm
A25 02l i (A

B.50 I HU&T 31w
B.More than 50cm
B.50 o3l s i (o

C.25 T Hiuen HH
C.Less than 25 cm
C.25 &S i i Aim

D. 3o
D.Infinite
D.3s=aY

A.25% HiUeT 3ifdh
A.More than 25cm
A25 00l —u i i

> e A et 3
Eugensen Lyngdoh is associated with

. Lz, . .
TR POR N - X - T\ JUTIENpe

Apedrd
A.Football
A~ Jus

GET IT ON
Google Play
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Answer:

189

Answer:

B.9Rbedld
B.Basketball
B. — db &Sl

C.gleara
C.Volley ball
C.—du s

D.gle!
D.Hockey
D.— S

Apcaid
A.Football
A, Js

GET IT ON
Google Play

SiogT AT &R, 3T SR o dRdard SHd@rd Agdi=1 a9 Il el FWordrd

When a patient smell's of smoke, fire food when these do not exist in really is called

= e LS ) 58 s G e Cibia g aSan 0 B S Qa0 (S S L 8T 6 (i (e (S o

A SITUITGT STHTT

A.Olfactory hallucination

A./\.A:\‘_’ PN Q}B

B. UMY 3TH

B.Tactile hallucination
B.rals Yy s LS (s gusna

C.UdUl 3ATHIY

C.Auditory hallucination

RIPEIRCII IR

D.None of these
Doyt &S e 0

A STUITGT THTY

A.Olfactory hallucination
A-MT“} PO IR C'_aﬁ
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190 AT 1 UAS YYD JreTa A 3n1for B 3=ft 31 faum faredt smg emfor 1) snfor (1) 3 3 fswd feaa
TR, YUY AR Sryced aiRll Jod T9a ail Wrdid g faum sRisR 3ed 3 .
%WWWWWWEFL&H%%W.

A: 99 ol U 3R,
B: ®la! UH geft 3rmgd.
e

I:Wq&ﬁﬁa@ﬂ-
II: PTe! U Fol T8

DIRECTION: In each of these questions, you are given two statements A and B followed by two
conclusions (1) and (ll). You have to take the two statements to be true even if they seem to be at
variance from commonly known facts. You are to decide which of the given conclusions definitely
follows from the given statements.

Statements:
A: All flowers are leaves.
B: Some leaves are birds.

Conclusions:
I: Some birds are flowers.
Il: Some leaves are flowers.

by 53 S ol e Sl g s e s DN A o) B il 58 e S o on =8 0 (1) L) (1) S S ow K
L_‘\ngASL_‘\UJSALa,}éﬁcﬁ].uﬁéiﬁw*ﬁé&&e}b)@)ﬁ?bo)%;\caUJSﬁLﬂﬁu»JA}SQU\*U}JJ
= UK aom S Gl 8 0y sh G S —w e il

Gl
A -On O J e st
B:-ox Juds Uhiye2S

da:
1 -0 Jser Juds 628
. -om Jsez Ol 628

ASR Faes sy | FRgd e

A.If only conclusion | follows
Al Gpa | 2 B S 5 5m

B.SR &des fAwpy || fAed Sraeumy.

B.If only conclusion Il follows
B.assii capa || - 2 BS (59 om

C.SR el fsey | 3oy 1| fFaa s,
C.If both | and Il follow
C.usisa | o Il -un S8 6w
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D.SR arg! fseed | 3for 11 fFrea T,

D.If neither | nor Il follows
D.snrilmll- =S som

Answer: B.SR %ae (spy 1| Fgd sraem.
B.If only conclusion Il follows
Borai Capa |l - 2 U S s 90m

191 LI AT0D AP YT 3HeR, Xeg fdhal WeATd IR THE SudTd SHTeld e,
et a7 o fAasT.

DIRECTIONS: In each of the questions, four groups of letters, words or numbers are given.

Find the odd one out.

.uﬁé_‘édé&#)ﬁ‘}?éq\m\bkw\ “_'i))acu;ud\}wjjiw.u
S N S S o

A.93751
A.93751
A.93751

B.51379
B.51379
B.51379

C.78526
C.78526
C.78526

D.73519
D.73519
D.73519

Answer: C.78526
C.78526
C.78526
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192 faur:
Yo RIS FUY URIEUMR WY He gl HRAIT Fedrid Ju fayausd 2015 d fasiaue Hafaram
SR Bfdet

FHdrar B
|. Frefan TRw el SuaTeTad Yd HIGUARITS! Ue AT RATTH H1d!.
1. TU 94 Y@ T4 Y= 9ugrd 31,

Statement:

Indian football team failed to win World Cup 2015 even after spending more than INR 50 crore on
training.

Course of actions:

I. A committee should be set up for finding out about miss appropriation of funds.

II. All the members of the team should be replaced by new members.

ol

“Se G U 02 2015 S T 5 e 3 S zoa ) i) 558 50 Ly Ky 1 ol JU (3

Sae AadY:
-l sl (S a8 el S o S 80 S Jlesial Lle S 538
[l ls Lo S doasi IS 5 S IS ) ol S o

ATHI | TR 3T
A.Only | follows
A ciral & g &Y

BT || SJaRUI B 3T
B.Only Il follows
B. ciall .8 5 &Y

C.UHR | fbal 11 SERA 317
C.Either | or Il follows
C.lLI& 5 &Y S e

D.| fiar 11 Q10 HIEte! S8Rl HRd Tl

D.Neither | nor Il follows
Dl os 118 5 SY e B5S —w e

Answer: D.| 3T || QU@ Blale! STARUI BT TG

D.Neither | nor Il follows
D.losh I8 5 G KY o (08— e
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193 T WTed U UYTd, G fdhar o= faem el siied, SareamaR IR sy sitgd ST |, 1, 111 31for
IV 3 G SR, a0 JTd SRIciedT duaieh ot siieesd Sych dilgl, § I SRIeum dleqRd
A, fadd S Fpy degeuu! fadie [ SR eard o aal .
faem -
DIUATE! HRDY W A,
HITda! Slohe e Al

PTe! Sl e T[aTd SAdId.

|. BT! T TR 3T

II. PTe! T[S TeR TN,

II]. PIUTATE! TR Sidhe I=cll.
IV BTg1 Sche AR ST,

DIRECTION: In each of the questions below, there are two or three statements followed by four
conclusions numbered |, Il, lll and IV. You have to take the given statements to be true even if they
seem to be at variance with commonly known facts and then decide which of the given conclusions
logically follow(s) from the given statements.

Statements:

No killer is a sweater.
No jacket is a sweater.
Some jackets are roses.

Conclusions:

I. Some roses are sweaters.

Il. Some roses are not sweaters.
lll. No Killer is a jacket.

IV Some jackets are killers.

i gl s S oa o R 0 il 0 b 50 e S s e S s 3 s aierul [l e T sl IV 28 0
WS Ahad so sl O Il Sy S Bilis aslas y jshiale o S U S sl cu Sy Ko Sl o
U S8 G S Slby 8y sk (e S e gl K S

Gl

= o s IS A
U g S80S S
-UR qu i&_};ﬁs

da:

| -Om rsw 08 g

I, -0 o A @8 g8
NI, = o S8 IS S
IV - OIS ESaa 428

ATHR | fdbar 11 3for 11 FHad e,
A.Either | or Il and Ill follow
ASLIUI s on =S Gsom
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Answer:

194

Answer:

195

Answer:

B.UHdR |1l fdsar 1v 31O 11 Fad srream.
B.Either lll or IV and Il follow
B.sLIHTLIV s on S0S ssom

C.T&H®R |l fdhar 11 fFaa e,
C.Either Il or lll follows
CsiLllLll =bS 6w

D.UHdR | fobar 11 AIaR 111 et Iv Red s

D.Either | or Il and either Il or IV follow
DLl 5L s TGV on S8 Goom

B.U&HaR |1l far v 3for 1| Fgd s,
B.Either lll or IV and Il follow
B.sGITLIV s Il on S8 ssom

GET IT ON
Google Play

DIRECTIONS: A sentence with an underlined word is given below. Find the Word which is most
similar in meaning to the underlined word.

Her bones became fragile and brittle after the prolonged iliness.

A.Weak
B.Strong

C.Tough

D.Powerful

A.Weak

‘Tgiey ’ I1 Yeard! et Tigar.

ATE +3
B. + Gla
cdglc+3
D T ATE!

PRILEIKI]
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196 T Ul Ui fFafor HRoarret, @ et (P), (Q) (R), (S) 30T (T) B U a1e’ Ay SfIehHM

TAREHT R TR ATdrd Uil SR .
P. ST Al ST S1fo1 I ol db el fHesardd 3xfda.

Q. TR} FTeld ST AT Ul FATRIA Ydl SHIeisSTal arTd g,

R. @M Uldfddads g faa 31 I dis ITSTeRIsR o AT Jdh Sl UTudTd gsal ST ey

EINI
S. T fGaxh, THT A THI [T gahel ulgel.

T. Al SITd ST, I ¥ad: ufdfds urvard ufgel Mfon gaR1 Ueh $a1 Hikre gabs] U3 Siid el

A faaR o,
TREAT HedHR WIeiiade! HI0d aad gur SRid?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence

to form a meaningful paragraph; then answer the questions given below them.
P. The dog got greedy and decided to have that piece as well.
Q. As it walked home, it had to cross a bridge over a stream.

R. He snapped at the reflection, and as soon as he opened his mouth, his piece of meat fell into the

water and disappeared.
S. A dog found a piece of meat one day.

T. As it walked, it saw its reflection in the water and thought it was another dog with a piece of meat.

Which of the following should be the SECOND sentence after rearrangement?

ostes @ o 1l (P)e (Q) (R)« (S) ush (T) ol 28 2 2 sy e Simd i o gy A S )y iaa b S

e S

P. L3 bls 1355 55 o0 55 DL I @Y S S,

Q. WU LR wdy ) S Sule G Gaoh (S e 55 e,

RS 568 sl LS 8 (e (AL 1555 A8 i 8 oW 568 i Wyl ) (isn ) (LS (o Wles .
S. S IBE S i S K Sy,

T SIS S i 8BS sy m aig 5l 6500 (lea oo Sl il Sla 55

S e U g alea b oS am S v yiojlig

AQ
AQ
AQ

B.S
B.S
B.S

C.P
C.P
C.P

D.T
D.T
D.T
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Answer:

197

Answer:

198

AQ
AQ
AQ

WUt HIvId I SRR 31M8?

Which statement is true?

§ = s Gl gl oS

A UBTIEY Fg0S Ulhos e U auiHed Uarg dala 3

A.Light year is the distance travelled in vacuum in one year
A G b o Ji SO ail SR s o il ol SO (U S8Y) Sl s 58

B.U% URI® 3.26 UHIRI IHHT SRISR 3.
B.One parsec is equal to 3.26 light years.

B.- = Us ol =S (b &) Jbs 55 3.26 Sy S

C.ENRIRAT Tehdb TR0 YU Yedia &g 3iak

C.Astronomical unit is the mean distance of the earth from the sun
Cgﬁ/\jmu.ku}‘sdy‘)cmc‘)"ukiuﬁéjﬂ

D.9d SRIeR 3MTed

D.All are true
D.on s (g

D.gd sRIsR 3Med

D.All are true
D.oy s g

Y TeqiHeH fay Ty it feifee -
“My Experiments with truth” was written by —

.w@é.@.ﬁj.@.ﬂjci&g%\‘;h

A.SATERATd 8%

A.Jawaharlal Nehru
Asp Y s

B.HeTT ieht
B.Mahatma Gandhi
B.2l8 Lol

GET IT ON
Google Play
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Answer:

199

Answer:

C.dTd J8TgX Xt

C.Lal Bahadur Shastri

Ccs s Ll 0N

D3I T W9, 3fsgdl ™
D.Dr. A.P.J. Abdul Kalam
D.odue o (o) SIS

B.H&Te et
B.Mahatma Gandhi
B.axK Lile

GET IT ON
Google Play

TETd] kil Geih-TgR GT 31 H= Y-
Through Evaluation one can study—

= S S nallas (568 ary )3 S il

A fa=maff

A.The students
Al

B.Rrew
B.The teachers
B.oxiLu

c.aid arat
C.Both the above
C.usis S

D.aieUe! Tl ATal

D.None of the above
D.owt &8 = o )

caddaarat
C.Both the above
C.usis =S

200 DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options,

choose the one which can be substituted for the given phrasal Verb.
Seeing his intense anger, she backed off .

A.moved forward
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B.came in front

C.retreated

D.welcomed

Answer: C.retreated
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